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This document sets out the information that is needed to access the General Household Survey (GHS) data.

The files essential for accessing the data are provided in text format. This format was chosen to make the data usable with
many statistical programs as possible, and thus accessible to a wide range of people as possible. Other files with relevant
information have been provided in Word 2000 format. If you do not have software appropriate for this format, please contact
Stats SA and paper copies will be forwarded to you.

Other important information can be found in the:

Questionnaire

Additional code lists (occupation and industry)
Relevant statistical release

Record layouts

Stats SA’s Web-site: www.statssa.gov.za

THE DATA FILES
The files and the corresponding sections of the questionnaire are as follows:
Person:  Data from Flap and Section 1
Worker: Data from Section 2
Tourism: Data from section 3
House:  Data from Section 4
The information in each file contains the following:
Description of variables

The description of the variables comprise of the following information:

Descriptive name: This is a short English description plus the variable name in the original file used by Stats SA to construct
the ASCII file.

Position of the variable: The position of the data within the record, recorded in the format (@xxxy.). “@xxx” indicates that
the data begins at position (i.e. column) xxx and “y.” indicates that it is y digits wide. All data is numeric and right justified.

Source: This is either the question in the questionnaire or, for derived variables, the method of derivation. Derived variables
are usually found towards the end of a record.



Valid range: The range of valid values for the variable. For continuous variables this reflects the upper and lower limits as
found in the data.

Not applicable: The code for not applicable is provided for each variable. These are numeric.
Missing value: A code for “missing”/unspecified values is given for each variable.
Notes: Specific observations to be noted by users.

Most questions in the General Household Survey guestionnaire are pre-coded, i.e. there is a set number of choices from which
one or more must be selected. For open-ended ‘write-in’ questions, the description will note that post-coding occurred and
explain how this was done. Most variables have been pre-coded from the questionnaire and is not repeated in the variable
description. Where the coding is not apparent, the description either provides the codes or indicates where code lists are to be
found.

Linking files

The data from different files can be linked on the basis of a record identifier. The record identifier is the first field/s in each
file. Each record contains a number (UgNr), which constitutes a unique household identifier. All records with a given
household identifier, no matter which file they are in, belong to the same household. For individuals, a further two digits
constitute the Person number (PersonNr). When these are added to the household identifier, a unique individual identifier is
created. Again, these can be used to link records from the PERSON and WORKER files. The syntax needed to merge
information from different files will differ according to the statistical package used.

METHODOLOGY

Sample design
A multi-stage stratified sample was drawn using probability proportional to size principles.

The sample was drawn from the master sample, which Statistics South Africa uses to draw samples for its regular household
surveys. The master sample is drawn from the database of enumeration areas (EAS) established during the demarcation phase
of Census 1996. As part of the master sample, small EAs consisting of fewer than 100 households are combined with adjacent
EAs to form primary sampling units (PSUs) of at least 100 households, to allow for repeated sampling of dwelling units
within each PSU. The sampling procedure for the master sample involves explicit stratification by province and within each
province, by urban and non-urban areas. Within each stratum, the sample was allocated disproportionately. A PPS sample of
PSUs was drawn in each stratum, with the measure of size being the number of households in the PSU. Altogether
approximately 3 000 PSUs were selected. In each selected PSU a systematic sample of ten dwelling units was drawn, thus,
resulting in approximately 30 000 dwelling units. All households in the sampled dwelling units were enumerated.

The master sample is divided into five independent clusters. In order to avoid respondent fatigue (the LFS is a rotating panel
survey which is conducted twice yearly), the GHS sample uses a different cluster from the LFS clusters.

Weighting the GHS of July 2004

A two-stage weighting procedure was done on the GHS 2004. The PSU inclusion probability is given by
n
Posy = -1,
NPSU

where N.g, is the number of households constituting the selected PSU during census fieldwork, ny is the number of PSUs

per stratum, and N, is the number of households constituting the selected stratum during census fieldwork. The household
inclusion probability per PSU is given by
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where n,,, is the number of selected dwelling units per PSU, H,, is the number of dwelling units in the PSU in question at
a particular time different from the census time.

The household weight adjusted for non-response is given by
HH ThH

. - n . . .
where T, is the response rate and is given by r,,, = —=2where N, is the number of responding households and n, is
n

.
the total number of visited households per PSU. The adjusted sample weights are now given by

1
Wi =

Posu P i

A SAS macro called CALMAR was used to benchmark W,,, to the mid-year estimates. The mid-year estimates were
adjusted to give population estimates for July 2004 (when survey fieldwork took place).

Coverage

The target population is private households in all nine provinces of South Africa and residents in workers’ hostels. The survey
does not cover other collective living quarters such as students’ hostels, old age homes, hospitals, prisons and military
barracks.

Definitions of terms
The population of working age — people aged 15-65 years.

Not economically active population includes people who are not available for work, such as full-time scholars and students,
full-time homemakers, those who are retired and those who are unable or unwilling to work.

Economically active population includes people aged 15-65 who are employed and those not employed.

Official and expanded definition of unemployment

Statistics South Africa (Stats SA) uses the following definition of unemployment as its official definition. The unemployed are
those people within the economically active population who: (a) did not work during the seven days prior to the interview, (b)
want to work and are available to start work within two weeks' of the interview, and (c) have taken active steps to look for
work or start some form of self-employment in the four weeks prior to the interview. The expanded definition of
unemployment excludes criterion (c).

Workers include the self-employed, employers and employees.

Formal dwellings include a house on a separate stand, a flat or apartment in a block of flats, a townhouse, a room in a
backyard, and a room or flatlet on a shared property.

Informal dwellings include shacks or shanties in informal settlements or in backyards.

Piped water in dwelling or on site refers to piped water inside the household’s own dwelling or in their yard. It excludes
water from a neighbour’s tap or a public tap that is not on site.

o Electricity for cooking, heating and/or lighting refers to electricity from the public supplier




Table A: Contents of the GHS 2004 questionnaire

Section Number of Details of each section
questions
Household information, response details, field staff information,

Cover page result codes, etc.

Flap 6 | Demographic information (name, sex, age, population group, etc.)

Section 1 58 | Biographical information (education, health, disability, welfare)
Section 2 21 | Activities related to work and unemployment
Section 3 12 | Trips undertaken in the 12 months prior to the survey interview
Section 4 79 | Household information (type of dwelling, ownership of the dwelling

and other assets, electricity, water and sanitation, environmental
issues, services, transport, expenditure, etc.)

All sections 176 | Comprehensive coverage of living conditions

Table B: Response rates by households, GHS 2004

Response Non-Out of scope| Total Number
Province response (Thousand)
Western Cape 77,1 12,5 10,4 100,0 3512
Eastern Cape 85,7 9,6 4.7 100,0 4160
Northern Cape 80,6 13,5 6,0 100,0 1553
Free State 79,2 11,0 9,8 100,0 2878
KwaZulu-Natal 89,9 5,6 4,5 100,0 4 958
North West 85,2 10,2 4,6 100,0 3047
Gauteng 82,2 10,3 7.5 100,0 5027
Mpumalanga 83,1 10,6 6,3 100,0 2780
Limpopo 87,8 8,3 3.9 100,0 3485
Average 83,9 9,7 6,3 100,0 31400

DEFINITIONS OF TERMS
The population of working age — people aged 15-65 years.

Not economically active population includes people who are not available for work, such as full-time scholars and students,
full-time homemakers, those who are retired and those who are unable or unwilling to work.

Economically active population includes people aged 15-65 who are employed and those not employed.



Official and expanded definition of unemployment

Statistics South Africa (Stats SA) uses the following definition of unemployment as its official definition. The unemployed are
those people within the economically active population who: (a) did not work during the seven days prior to the interview, (b)
want to work and are available to start work within two weeks? of the interview, and (c) have taken active steps to look for
work or start some form of self-employment in the four weeks prior to the interview. The expanded definition of
unemployment excludes criterion (c).

Workers include the self-employed, employers and employees.

Formal dwellings include a house on a separate stand, a flat or apartment in a block of flats, a townhouse, a room in a
backyard, and a room or flatlet on a shared property.

Informal dwellings include shacks or shanties in informal settlements or in backyards.

Piped water in dwelling or on site refers to piped water inside the household’s own dwelling or in their yard. It excludes
water from a neighbour’s tap or a public tap that is not on site.

Clean water refers to piped water (regardless of from where) and water from a water carrier/tanker.
Electricity for cooking, heating and/or lighting refers to electricity from the public supplier

Hyagienic toilet facility refers to a flush toilet, chemical toilet or pit latrine with a ventilation pipe.

DATA FILE: PERSON

Unique number (UgNr) (@1 13)
Unique Household Identifier

Note: This is the unique household identifier, which can be used to link data from this file with data for the same households
from other files.

Person number (PersonNr) (@14 2)
Person number within Household
Valid range: 1 — 28

Note: The two fields above create a 15-digit unique person identifier, which can be used to link data from this file with data
for the same individuals from other files.

Province (Prov) (@16 1)
South African provinces

Derived variable: Derived from the first digit of the Unique Number.
Valid range: 1 -9

Values:

Western Cape

Eastern Cape

Northern Cape

Free State

KwaZulu-Natal

North West

Gauteng

Nook~wnE




8. Mpumalanga

9. Limpopo
FLAP
Stayed Nights (B_4Night) (@17 1)
B |Has.... stayed here (in this household) for at
least four
nights on average per week during the last four weeks?
1=YES
2=No — End of questions for this person

Note to users

This question is asked for each person found in the selected dwelling. Those who are not household members (those who
haven’t spent at least four nights per week) would be eliminated on the second category (2 = No). The instruction in this
question is to end the interview with those who have answered “No” in this question. It is through this question where
household members are identified within the selected dwelling unit.

Universe
Every person who normally resides in this household at least four nights a week.

Final code list
1=Yes

Gender (Gender) (@18 1)

Clls ... a male or a female?
1=MALE
2 =FEMALE

Note to users

This question is asked for each household member, to determine his or her gender. This question is only applicable if there is
a “Yes” in the previous question, which determines whether a person is a household member or not. The enumerators are
instructed not to assume the gender of the members of the households by just looking at people’s names or physical
appearances.

Universe
Every person who normally resides in this household at least four nights a week.

Final code list

1 = Male
2 =Female
Age (Age) (@19 3)



D | Howoldis....7 (In completed years - In whole
numbers)
Less than 1 year = 00.

Note to users

This question is asked to find out the ages of the household members. The question is asked to each member of the household.
The instruction is to write the years in whole numbers and not in words. Moreover, these years must be completed, thus if a
person is two years and six months, the instruction is to write the two completed years. For those children who are less than a
year, the instruction is to write 00.

Universe
Every person who normally resides in this household at least four nights a week.

Final code list
Lessthan 1year =0
Valid range: 0 — 108

Population group (Popgrp) (@22 1)

E | What population group does ....... belong to?
1= AFRICAN/BLACK

2 = COLOURED
3 = INDIAN/ASIAN

4 =\WHITE
5 = OTHER, SPECIFY

Note to users

This question is asked to determine the population group of persons from the selected dwelling. The respondent must answer
for each member without any assumptions. In this instance the enumerator is also instructed not to make any conclusions,
which may be influenced by his/her own observation or using people’s names during the interview. This question may seem
very sensitive to some respondents especially in this post apartheid era, but it is really important to find out the composition of
the South African population.

Universe
Every person who normally resides in this household at least four nights a week.

Final code list
1 = African/Black

2 = Coloured

3 = Indian/Asian
4 =White
SECTION 1



Relationship to the head (g11relshh) (@23 2)

1.1 |Whatis ...... ’s relationship to the head of the household?
(i.e. to the person in column 1)

1 = Mark the head/acting head

2 = HUSBAND/WIFE/PARTNER

3 = Son/daughter/stepchild/adopted child

4 = BROTHER/SISTER

5 = FATHER/MOTHER

6 = GRANDPARENT/GREAT GRANDPARENT

7 = GRANDCHILD/GREAT GRANDCHILD

8 = OTHER RELATIVE (E.G. IN-LAWS OR AUNT/UNCLE)
9 = NON-RELATED PERSONS

Note to users

This question is asked for each member of the household to determine their relationship to the head of the household. The
respondent is asked to give the information on how each member is related to the head of the household. The enumerator is
instructed to cross check the information in this question with the one on the flap, especially on the head or acting head of the
household.

Universe
Every person who has stayed in the households in selected dwelling units at least four nights a week in the four weeks prior
the interview.

Final code list

1 = Mark the head/acting head

2 = Husband/wife/partner

3 = Son/Daughter/Stepchild/Adopted child
4 = Brother/Sister

5 = Father/Mother

6 = Grandparent/Great grandparent

7 = Grandchild/Great grandchild

8 = Other relative (e.g. in-laws or aunt/uncle)
9 = Non-related persons

99 = Unspecified

Marital status (Q12amatri) (@25 1)

1l.2.a | Whatis ...... ’s present marital status?

1 = MARRIED OR LIVING TOGETHER AS HUSBAND AND WIFE
2 = WIDOW/WIDOWER

3 = DIVORCED OR SEPARATED — GotoQ1l3a
4 = NEVER MARRIED

Note to users
This question is about the marital status of the members of the household. Both modern and traditional marriages are
considered in this question.

If the response is widow/widower, divorced or separated and never married the enumerator is instructed to go to Q 1.3.a,
which is on mortality for households.



Universe
Every person who has stayed in the households in selected dwelling units at least four nights a week in the four weeks prior
the interview

Final code list

1 = Married or living together as husband and wife
2 = Widow/Widower

3 = Divorce or Separated

4 = Never married

9 = Unspecified

Spouse/partner (Q12bspou) (@26 1)
1.2.b | Does...... ’s spouse/partner live in this
household?
1=YEs
2=No —>GotoQ1l3a

Note to users
This question is only applicable for those people who indicated that they are “Married or living together as husband and
wife” (Q1.2.a). If the response is “NO” the enumerator is instructed to skip to Q1.3a which is on mortality for households.

Universe
Only those people who are married or living together as husband and wife.

Final code list

1= Yes

2 = No

8 = Not applicable

9 = Unspecified

Spouse number (Q12cpsnn) (@27 2)
1.2.c | Which person is the spouse/partner of ......?

Give person number

Note to users

This question is only applicable for those people who said “Yes” in (Q 1.2.a), thus “Married or living together as husband and
wife”. It comfirms the information on the previous question, which seeks to determine whether couples within the visited
household live together or not.

Universe
Only applicable to those living with their spouses in the same dwelling unit.

Final code list
Valid range: 1 - 15
Not applicable: 88
Unspecified: 99

Father alive (Q13afath) (@29 1)

|1.3.a | Is...... ‘s biological father still alive?

} 9



1=YEs
2=No —>GotoQ1l4.a
3=DON’T KNOW

Note to users

This question wants to find out if the father is still alive or has passed away. The father does not necessarily have to be
member of the household. That means one’s father may be alive but living somewhere outside the selected dwelling unit. For
codes 2 and 3 the instruction isto go to Q 1.4.a.

Universe
This is applicable to each member of the household.

Final code list
1 =Yes
2 =No

3 =Don’t know
9 = Unspecified

Father part of the household (Q13bfpar) (@30 1)
13b |Is...... ’s biological father part of the household?

1=YES

2=No —>GotoQ1l4.a

Note to users
This is a follow up question to the previous one (Q 1.3.a), but interested on whether the father is the member of the visited
household or not. The instruction is that for those who said “No” the interview must proceed to question Q 1.4.a.

Universe
Only for those with “Yes” in the previous question (1.3.a).

Final code list
1 =Yes
2 =No

8 = Not applicable
9 = Unspecified

Father person number (Q13cfpsn) (@31 2)

1.3.c | Which personis ...... ’s biological father?
Give person number

Note to users
This is a follow up question, to the previous question (Q 1.3.b) to verify whether the father is part of the household or not. The
answer to this question can be cross-checked with (Q 1.1) to find out about the status of the father.

Universe
Only for those who said “Yes” in the previous questions (1.3.a and 1.3.b).

Final result code
Valid range: 1 - 11
Not applicable: 88
Unspecified: 99
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Mother still alive (Q14amoth) (@33 1)

l4a|ls...... ‘s biological mother still alive?
1=YEs
2=No —>GotoQ1l5a
3 =DON’T KNOW

Note to users

This question wants to find out if the mother is still alive or has passed away. The mother does not necessarily have to be a
member of the household. That means one’s mother may be alive but living somewhere outside the selected dwelling unit. For
codes 2 and 3 the instruction is to go to Q 1.5.a.

Universe
This is applicable to each member of the household.

Final result code
1=Yes

2 =No

3 = Don’t know
9 = Unspecified

Mother part of household (Q14bmpar) (@34 1)
14b |lIs...... ’s biological mother part of the
household?
1=YES
2=No —>GotoQ15.a

Note to users
This is a follow up question to the previous one (Q 1.4.a), but interested on whether the mother is the member of the visited
household or not. The instruction is that for those who said “No” the interview must proceed to question Q 1.5.a.

Universe
Only for those who said, “Yes” in the previous question (1.4.a).

Final code list
1=Yes

2=No

8 = Not applicable
9 = Unspecified

Mother person number (Ql4cmpsn) (@35 2)
1.4.c | Which personis ...... ’s biological mother?
Give person number

Note to users
This is a follow up question, to the previous question (Q 1.4.b) to verify whether the mother is part of the household or not.
The answer to this question can be cross-checked with (Q 1.1) to find out about the status of the mother

Universe
Only for those who said, “Yes” in the previous questions (1.4.a and 1.4.b).

11



Final code list
Valid range: 1 - 17
Not applicable: 88
Unspecified: 99

Fetching water (Q15afetw) (@37 1)
1.5.a| In the last seven days, did ...... spend at least one
hour fetching water for home use (not for sale)?
1=YEs
2=No —>GotoQ l6.a

Note to users

This question is asked to all members of the household, but only applicable in the last seven days. The number of hours is
calculated throughout the seven days. Even if a person can spent as little time as possible to collect water per week, as long as
the minutes add up to one hour per week she/he qualifies. The instruction in this question is that the water that is collected
should not be for sale. If the answer is “No” a person should skip to Q 1.6.a

Universe
For all household members in the selected dwellings.

Final code list
1 = Yes

2 = No

9 = Unspecified

Hours spent (Q15bhrsw) (@38 2)

1.5.b | How many hours did ...... spend on fetching water in
the last seven days?

Note to users
This question is asked to all members of the household, but only applicable in the last seven days. The number of hours is
calculated throughout the seven days. This question is only applicable if there is a “Yes” in the previous question (Q 1.6.a).

Universe
For all household members who said “Yes” in Q1.5.a.

Final code list
Valid range: 1 - 42
Not applicable: 88
Unspecified: 99

Fetching wood/dung (Q16afetd) (@40 1)
1.6.a | In the last seven days, did ...... spend at least one
hour fetching wood/dung for home use (not for
sale)?
1=YES
2=No —>Goto Q17

Note to users
This question is asked to all members of the household, but only applicable in the last seven days. The number of hours is
calculated throughout the seven days. Even if a person can spent as little time as possible to collect wood/dung per week, as
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long as the minutes add up to one hour per week she qualifies. The instruction in this question is that the wood/dung collected
should not be for sale. If the answer is “No” a person should skip to Q 1.7.

Universe
For all household members in the selected dwellings.

Final code list
1 =Yes

2 =No

9 = Unspecified

Hours spent (Q16bhrsd) (@41 2)

1.6.b | How many hours did ...... spend on fetching
wood/dung in the last seven days?

Note to users
This question is asked to all members of the household who collected wood/dung in the last seven days. The number of hours
is calculated throughout the seven days. This question is only applicable if there is a “Yes” in the previous question (Q 1.6.a).

Universe
For all household members who collected wood/dung in the last seven days.

Final code list
Valid range: 1 - 52
Not applicable: 88
Unspecified: 99

Note: Q 1.8 and Q 1.9 are in the house file and not applicable in this file.

Ability to read (Q17read) (@43 1)
17 | Can...... read in at least one language?
1=YES
2=No

Note to users

This question is on literacy of the members of the household. It is applicable to each member of the household. A person who
is considered to read must be able to read simple sentences. That means a person who can only read his name and surname is
not regarded as being able to read.

Universe
All members of the households in the selected dwelling.

Final code list
1 =Yes
2 =No
9 = Unspecified

Ability to write (Q18write) (@44 1)
1.8 Can ...... write in at least one language?

13



1=YES
2=No

Note to users

This question is on literacy of the members of the household. It is applicable to each member of the household. A person who
is considered to write must be able to write simple sentences. That means a person who can only write his name and surname
is not regarded as being able to write.

Universe
All members of the households in the selected dwelling.

Final code list
1 =Yes

2 =No

9 = Unspecified

Highest education level (Q19hiedu) (@45 2)
1.9 | What is the highest level of education that ...... has
completed?

00 = NO SCHOOLING

01 =GRADE R/0

02 =SuB A/GRADE 1

03 = SuB B/GRADE 2

04 = GRADE 3/STANDARD 1

05 = GRADE 4/STANDARD 2

06 = GRADE 5/STANDARD 3

07 = GRADE 6/STANDARD 4

08 = GRADE 7/STANDARD 5

09 = GRADE 8/STANDARD 6/FORM 1

10 = GRADE 9/STANDARD 7/FORM 2

11 = GRADE 10/STANDARD 8/FORM 3

12 = GRADE 11/STANDARD 9/FORM 4

13 = GRADE 12/STANDARD 10/FORM 5/MATRIC

14=NTCI

15=NTCII

16=NTCIII

17 = CERTIFICATES WITH LESS THAN GRADE 12/sTD 10

18 = DIPLOMA/CERTIFICATE WITH LESS THAN GRADE 12/STD 10

19 = CERTIFICATE WITH GRADE 12/STD 10

20 = DIPLOMA WITH GRADE 12/STD 10

21 = BACHELOR DEGREE

22 = BACHELOR DEGREE AND DIPLOMA

23 = HONOURS DEGREE

24 = HIGHEST DEGREE (MASTERS, DOCTORATE)

25 = OTHER, specify in the box at the bottom

26 = DON’T KNOW
Diplomas or certificates should be of at least six
months study duration full-time(or equivalent)

14



Note to users

This question is applicable to all household members. The enumerators are instructed that it is only those qualifications
already obtained which must be entered. That means the current level, whereby a person is still busy with is not applicable. It
is very important to complete each record even if the person has not attended school. Moreover the enumerators are instructed
that diploma and certificates must be of at least six months duration.

Universe
All members of the household in the selected dwelling.

Final code list

0 = No schooling

1=Grader/0

2=gradel/Suba
3=grade2/Subb

4 = Grade 3/ Standard 1

5 = Grade 4 / Standard 2

6 = Grade 5/ Standard 3

7 = Grade 6 / Standard 4

8 = Grade 7 / Standard 5

9 = Grade 8/ Standard 6 / Form 1
10 = Grade 9/ Standard 7 / Form 2
11 = Grade 10/ Standard 8 / Form 3
12 = Grade 11 / Standard 9 / Form 4
13 = Grade 12 / Standard 10 / Form 5 / Matric

14 =NTCI
15=NTCII
16 = NTC Il

17 = Certificates with less than grade 12 / Standard 10
18 = Diploma / Certificate with less than Grade 12 / Standard 10
19 = Certificate with Grade 12 / Standard 10

20 = Diploma with Grade 12 / Standard 10

21 = Bachelor degree

22 = Bachelor degree and diploma

23 = Honours degree

24 = Highest degree (Masters, Doctorate)

25 = Other, specify in the box at the bottom

26 = Don’t know

99 = Unspecified

Currently attending school (Q110atte) (@47 1)
110 | Is...... currently attending school or any other
educational institution?
1=YES
2=No —-GOTOQ1.23

Note to users

Despite the qualifications different people have, the interest in this question is to find out the number of people who are
currently attending any educational institution. Both distance and correspondence education should be included in this
guestion. The instruction to the enumerators is that for those who answered, “No” they should skip to Q 1.23.

Universe
All members of the household who are currently attending any educational institutions.
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Final code list
1 =Yes

2 =No

9 = Unspecified

Education institution (Q111Eduii) (@48 2.)

1.11 | Which of the following educational institutions does
...... attend?
Include distance and correspondence education

1 = Pre-school (including day care, créche, pre-primary)
2 = School

3 = University

4 = Technikon

5 = College

6 = Adult basic education and training/literacy classes

7 = Other adult educational classes

8 = Other than any of the above

Note to users

This question is only applicable to those who answered “Yes” in question Q 1.10. Both distance and correspondence
education are included in this question. The enumerators are instructed not to make assumptions by taking people’s ages with
the level of education, but rather consider what the respondent gives.

Universe
Only members of the household who are currently attending an educational institution.

Final code list
1 =Pre-school (including day care, créche, pre-primary)
2 = School

3 = University

4 = Technikon

5 =College

6 = Adult basic education and training/literacy classes

7 = Other adult educational classes

8 = Other than any of the above

88 = Not applicable

99 = Unspecified

Distance learning classes (Q112DIrn) (@50 1)

1.12 | Is it a correspondence/distance educational
institution?
1=YES —>GotoQ1l.14
2=No

Note to users

Correspondence/distance education is whereby tuition is outside formal lecture halls. Communication for concerned parties is
usually through the use of media, such as e-mails, internet, telephones etc. The instruction for the enumerator is that for
respondents who said “Yes” they should skip to Q 1.14.

Universe
Only those who have registered with correspondence/distance education institutions.
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Final code list

1 =Yes

2 =No

8 = Not applicable
9 = Unspecified

Time to school (Q113time) (@51 1)

1.13 | How long does it take ...... to get to the
school/educational institution where he/she
attends?

1=LESS THAN 15 MINUTES
2=15-30 MINUTES

3 =MORE THAN 30 MINUTES
4=DON’T KNOW

Note to users
This question only applies to people who are currently attending school or any other kind of educational institution. It should
be made clear to the respondent that the time refers to the one spent using the usual means of transport.

Universe
Applicable to those who are currently attending school or any other educational institution.

Final result code

1 = Less than 15 minutes
2 = 15 - 30 minutes

3 = More than 30 minutes
4 = Don’t know

8 = Not applicable

9 = Unspecified

Tuition fees paid (Q114Feet) (@52 2)

1.14 | What is the total amount of tuition fees paid for.. in
ayear?

Do not include the cost of uniforms, books and other
learning materials.

01=R1-R100

02 =R101-R200

03 =R201-R300

04 =R301-R500
05=R501-R1000
06 =R1001 - R2000
07 =R2001 -R3000
08 =R3001 - R4000
09 =R4001 - R8000
10 =R8001 - R12000
11 = MORE THAN R12000
12 = NONE

13 =DON’T KNOW
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Note to users

This question includes everyone registered with the educational institution. The enumerators are instructed not to include the
cost of the uniforms, books and other learning materials. Moreover, they emphasize it that for those receiving bursaries and
exemptions they should indicate the amount that is due.

Universe
All household members attending any educational institution.

Final result code

01 =R1-R100

02 =R101 - R200

03 =R201-R300

04 =R301 - R500

05 = R501 - R1000
06 = R1001 — R2000
07 =R2001 - R3000
08 = R3001 — R4000
09 = R4001 - R8000
10 = R8001 - R12000
11 = More than R12000
12 = None

13 = Don’t know

88 = Not applicable
99 = Unspecified

Bursaries (Q115Burs) (@54 1)
1.15 | THISACADEMIC YEAR, HAS ....... BENEFITED FROM
ANY FEE EXEMPTIONS AND/ OR BURSARIES?
1=VYEs
2=No

3 =DON’T KNOW

Note to users

This question is asked to all members of the household who are registered at the educational institution and benefited from
exemptions and bursaries. The enumerators are instructed that donations and gifts are not supposed to be recorded in this
question. This question is only applicable to the current term. The exemption mentioned is where a person has been granted a
reduction on tuition fees or for some reason is related from obligation to pay them (tuition fees). A bursary is when a person is
awarded a non- refundable amount to cover tuition costs.

Universe
All household members attending any educational institution, and received exemptions and bursaries in the current academic
year.

Final result code
1=Yes

2=No

3 =Don’t know

8 = Not applicable
9 = Unspecified
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1.16 | During the past 12 months, what problems, if any, did
... experience at the school (or other educational institution)? YEs No

1 = Lack of books (1102
2 = Poor teaching (11012
3 = Lack of teachers 1102
4 = Facilities in bad condition L1002
5 = Fees too high L1102
6 = Classes too large S 1 S g
7 = Other, specify in column

Note to users

The reference period in this question is very important. It is specified that the problems related to the educational institution
should be during the past 12 months. There are various categories given and the instruction to the enumerator is to ask for all
of them to each person attending any educational institution. For anything that is not pre-coded there is provision to specify
the related problem. None of the codes should be left blank, thus the answer should either be “Yes” or “No”.

Universe
All those people attending school during the past 12 months.

Final code list

Lack of books (Q116book) (@55 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Poor teaching (Q116poor) (@56 1.
1=Yes
2=No

8 = Not applicable
9 = Unspecified

Lack of teachers (Q116lack) (@57 1))
1="Yes

2=No

8 = Not applicable

9 = Unspecified

Facilities in bad condition (Q116badc) (@58 1)
1=Yes
2=No

8 = Not applicable
9 = Unspecified

Fees too high (Q116fees) (@59 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Classes too large (Q116clas) (@60 1)
1=Yes
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2=No
8 = Not applicable
9 = Unspecified

Other, specify in column (Q1160thr)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Same Grade (Q117Same)

117 | 1s ... doing the same grade as last year?
1=YEs

2=NO —-GotoQ1.19

Note to users

(@61 1)

(@62 1)

The question is only applicable to household members who are aged between 5 and 24 years and currently attending school or
any kind of institution. The question is asked to the respondent in order to get the information on whether the respondent is

repeating the same grade done last year. The instruction is to skip to Q1.19 if the answer is “No”.

Universe

All members of the household aged between 5 and 24 years and currently attending school or any kind of institution.

Final code list
1="Yes

2=No

8 = Not applicable
9 = Unspecified

1.18 | Why is. ...... doing the same grade as later last year?
01 = Failed to reach minimum pass requirements

02 = Change of residence
03 = Health reasons

04 = Pregnancy

05 = Teacher’s decision

06 = Parents’ decision

07 = Learner’s decision

08 = Expelled due to lack of discipline
09 = Absconded

10 = No money for fees

11 = Lack of school facilities

12 = Other, specify..........

YEs No
[11[]2
(112
(112
[J1[]2
(112
(112
(11012
[11[]2
1102
(1102
(11012
(11012

Note to users

This question is asked to all the household members who answered “Yes” to Q1.17, and is about getting the relevant on why
the respondent is doing the same grade as last year. It must be noted that this question is a multiple question, and every

category should be read out to the respondent and wait for an answer.

Universe
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All members of the household who answered “Yes” to Q1.17 and are aged between 5 and 24 years and currently attending

school or any kind of institution.

Final code list

Failed minimum pass (Q118fail)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Change of residence (Q118chan)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Health reasons (Q118heal)
1="Yes

2=No

8 = Not applicable

9 = Unspecified

Pregnancy (Q118preg)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Teacher’s decision (Q118teac)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Parent’s decision (Q118pare)
1="Yes

2=No

8 = Not applicable

9 = Unspecified

Learner’s decision (Q118lear)
1="Yes

2=No

8 = Not applicable

9 = Unspecified

Expelled due to lack of disciple (Q118expe)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Absconded (Q118absc)
1=Yes
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2=No
8 = Not applicable
9 = Unspecified

No money for fees (Q118nomo) (@72 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Lack of school facilities (Q118lack) (@73 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Other (Q118othr) (@74 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Start grade (Q119grad) (@75 3)

1.19 | At what age did ...start gradel?

Note to the user
This question should be asked to all household members who are currently attending school or any other educational
institution. It must be noted that Grade 1 is equivalent to SUB A.

Universe
All household members currently attending school or any form of educational institution and aged between 5 and 24 years.

Final code list
Valid range: 1 - 99
Not applicable: 888
Unspecified: 999

Get free food (Q120Free) (@78 1.
1.20 | Does ...... get free food to eat to school or money to
buy food to eat?
1=YEs
2=No

Note to users
This question is applicable to all household members who are attending school; and for those household members that are not
currently attending school e.g. tertiary institutions etc, the answer should be “No”.

Universe
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All members of the household aged between 5 and 24 years and are currently attending school and any form of educational
institution.

Final code list
1=Yes

2=No

8 = Not applicable
9 = Unspecified

Take food (Q121Take) (@79 1)
121 | Does ...... usually take food to school or money to
buy food to eat?
1=YEs
2=No

Note to users
This question is applicable to all household members who are attending school; and for those household members that are not
currently attending school e.qg. tertiary institutions etc, the answer should be “No”.

Universe

All members of the household aged between 5 and 24 years and are currently attending school and any form of educational
institution.

Final code list

1=Yes

2=No

8 = Not applicable

9 = Unspecified

Text books (Q122Text) (@80 1)
1.22 | Does ...... have access to text books?

1=YEs

2=No

—>GotoQ1.31

Note to users

This question is about all household members who are attending school and have access to textbook at school, home or at
libraries. The libraries should be school or community libraries. After the respondent has answered “Yes” or “No” the
instruction is to skip to Q1.31.

Universe
All members of the household aged between 5 and 24 years and are currently attending school and any form of educational

institution.

Final code list
1=Yes

2=No

8 = Not applicable
9 = Unspecified

Reason not attending (Q123Rsnhn) (@81 2)
|1.23 | What is the main reason why ...... is currently not attending
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school or any other education institution?
01 =TOO OLD/YOUNG
02 = HAS COMPLETED SCHOOL/EDUCATION
03 = SCHOOL/EDUCATION INSTITUTION IS TOO FAR AWAY
04 = NO MONEY FOR FEES
05 = HE/SHE 1S WORKING (AT HOME OR JOB)
06 = EDUCATION IS USELESS OR UNINTERESTING
07 = ILLNESS
08 = PREGNANCY
09 = FAILED EXAMS
10 = GOT MARRIED
11 = FAMILY COMMITMENT (CHILD MINDING, ETC.)
12 = OTHER, specify in column underneath

Note to users

This question is about the reasons why people are not attending school or any other educational institution. It applies to all
members of the household who are at the age between 5 and 24 years old. The respondent must give reason on why s/he is not
attending school or any educational institution. For any other reason that is not pre-coded in the question, respondents are
requested to specify them in the provided space.

Universe
All members of the household who are currently not attending school or any educational institution and must be at
the age between 5 and 24.

Final code list

01 =Too old / young

02 = Has completed school / education

03 = School/education institution is too far away
04 = No money for fees

05 = He / she is working (at home or job)

06 = Education is useless or uninteresting

07 = Illness

08 = Pregnancy

09 = Failed exams

10 = Got married

11 = Family commitment (child minding, etc.)
12 = Other, specify in column underneath

88 = Not applicable

99 = Unspecified

Ever attend school (Q124Atte) (@83 1))
1.24 | Did ...... ever attend school?

1=YES

2=No —>GotoQ1.31

Notes to users
This question is asked to the respondent on whether s/he ever attended school, and if the answer is "No", then the instruction
to the enumerator is to skip to Q1.31

Universe
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All members of the household who are currently not attending school or any educational institution and must be at the age
between 5 and 24.

Final code list

1 =Yes

2=No

8 = Not applicable
9 = Unspecified

Last attended (Q125Lsta) (@84 1)
1.25 | When last did ... attend school?

1 =THIS YEAR

2 =LAST YEAR

3 =TWO YEARS AGO
4= THREE YEARS AGO
5= FOUR YEARS AGO
6= MORE THAN FOUR YEARS AGO

Notes to users
The question is asked to all the household members who answered Q1.24 “Yes”. The respondent has to answer the last time
s/he attended school.

Universe

All members of the household who are currently not attending school or any educational institution and must be at the age
between 5 and 24.

Final code list

1 =This year

2 = Last year

3 = Two years ago

4 = Three years ago

5 = Four years ago

6 = More than four years ago
8 = Not applicable

9 = Unspecified

Main reason left (Q126Rsnl) (@85 2)

1.26 | What is the main reason why....... left school?
01 = Failed to reach minimum pass requirements

02 = Finished studies
03 = To work at home

04 = To work away from home
05 = Health reasons
06 = Pregnancy
07 = Teacher’s decision
08 = Parent’s decision
09 = Learner’s decision
10 = Expelled due to lack of discipline
11 = Absconded

25



12 = No money for fees
13 = Lack of school facilities
14 = Other, specify..........

Notes to users
The purpose of asking this question to household members and is to find out the main reason why the respondent left school.
If there might be more than one reason, only the main reason should be taken

Universe
All members of the household who are currently not attending school or any educational institution and must be at the age
between 5 and 24.

Final code list

01 = Failed to reach minimum pass requirements
02 = Finished studies

03 = To work at home

04 = To work away from home

05 = Health reasons

06 = Pregnancy

07 = Teacher’s decision

08 = Parent’s decision

09 = Learner’s decision

10 = Expelled due to lack of discipline
11 = Absconded

12 = No money for fees

13 = Lack of school facilities

14 = Other, specify..........

88 = Not applicable

99 = Unspecified

Start gradel (Q127Grad) (@87 3.)

1.27 | Atwhat age did ...start gradel?

Notes to users
This question requires the household member to give an answer on the age s/he started school. The enumerator has to record
the age in two digits.

Universe
All members of the household who are currently not attending school or any educational institution and must be at the age
between 5 and 24.

Final code list
Valid range: 1 - 16
Not applicable: 888
Unspecified: 999

Leave school (Q128Agel) (@90 3)

1.28 | At what age did. ... leave school (the first time if he
left more than once)?
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Notes to users
This question requires the household member to give an answer on the age s/he left school. The enumerator has to record the
age in two digits.

Universe
All members of the household who are currently not attending school or any educational institution and must be at the age
between 5 and 24.

Final code list
Valid range: 0 — 25
Not applicable: 888
Unspecified: 999

Intend going back school (Q129Back) (@93 1)
1.29 | Does ...... intend going back to school?

1=YEs

2=NO —> GotoQ 1.31

Notes to users
This question is asked to the household member if they intend to go back to school or any education institution, but left for
some reason. If the answer is “No” then the instruction is to skip to Q1.31.

Universe
All members of the household who are currently not attending school or any educational institution and must be at the age
between 5 and 24.

Final code list
1=Yes

2=No

8 = Not applicable
9 = Unspecified

When back to school (Q130whnb) (@94 1)
1.30 | When do you think ...... intends going back to
school?

1 =NEXT YEAR
2 =WITHIN 2 YEARS
3 =DON’T KNOW

Note to users
This question is asked to the household member about the time they intend going back to school or any education institution.

Universe
All members of the household who are currently not attending school or any educational institution and must be at the age
between 5 and 24.

Final code list

1 = Next year

2 = Within 2 years
3 = Don’t know
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8 = Not applicable
9 = Unspecified

Medical Aid (Q131Medi) (@9 1)
131 | ISt covered by a medical aid or medical benefit
scheme or other private health insurance?
1=YEs
2=No

3 = DON’T KNOW

Note to users

This question asks the respondent about the medical aid scheme that covers the medical expenses partially, or in total and very
often the employer makes a contribution towards the installments. The enumerator has to make this clear to the respondent.
This question looks at coverage by existing schemes. The question should be answered with a “Yes” even if the person is not
a principal member of a scheme but as long as s/he is covered by it. For example a child or a spouse is often covered by the
scheme of which his/her employed parent or partner is a member is a member.

Universe
All the household members.

Final code list

1=Yes
2=No
3 = Don’t know
9 = Unspecified

IlIness/Injuries (Q132Inju) (@96 1)

1.32 | During the past month, did ...... suffer from any
illness or injuries?
1=YES

2=No —>GotoQ 141

Note to users

This question is asked to all the household members and the reference period is the past month. Note that iliness refers to any
perceived sickness that does not result from an injury e.g. flu, pneumonia, heart attack, diabetes, etc. excluding injuries or
disabilities; and injury refers to any physical infliction, which can either be internally or externally e.g. broken arm or leg, stab
wound, etc. The instruction to the enumerator is to skip to Q1.41 if the answer is “No”.

Universe
All the household members.

Final code list
1=Yes

2=No

9 = Unspecified

1.33 | What sort of illnesses or injuries did ...... suffer from?
Wasit ....
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02 = Diarrhea

05 = Abuse of alcohol or drugs
06 = Depression or mental illness

07 = Diabetes
08 = High or low blood pressure
09 = HIV/AIDS

11 = Other illness or injury

01 = Flu or acute respiratory tract infection

10 = Other sexually transmitted disease

03 = Severe trauma (e.g. due to violence, motor vehicle
accident, gunshot, assault, beating)

04 = TB or severe cough with blood

YES NO
[J1[]2
[J1[]2
102
[11[]2
[J10]2
[J1[]2
(11012
(11012
[11[]2
[J1[]2
11012

Note to users

This question is applicable to all household members and very specific to the kind of illness or injury the members of the
household suffered from in the past month. The enumerators are instructed to read out all the given options to the respondents,
to answer either a “Yes” or “No”. Those respondents who answered, “Yes” in Q 1.32 should answer this question.

Universe

All household members who suffered from any illness or injury in the past month.

Final code list

Flu or acute respiratory tract infection (Q133flu)

1=Yes

2=No

8 = Not applicable
9 = Unspecified

Diarrhea (Q133diar)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Severe trauma (Q133trau)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

TB or severe cough with blood (Q133tb_c)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Abuse of alcohol or drugs (Q133subs)
1=Yes
2=No
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8 = Not applicable
9 = Unspecified

Depression or mental illness (Q133depr) (@102 1))
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Diabetes (Q133diab) (@103 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

High or low blood pressure (Q133bloo) (@104 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

HIV/AIDS (Q133HIV.) (@105 1.)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Other sexually transmitted disease (Q133sexd) (@106 1))
1="Yes

2=No

8 = Not applicable

9 = Unspecified

Other illness or injury (Q133othr) (@107 1))
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Consult a health worker (Q134Cons) (@108 1))

1.34 | During the past month, did ...... consult a health
worker such as a nurse, doctor or traditional
healer as a result of illness or injury?

1=YES

2=No —> GotoQ 140

Note to users

This is applicable to all household members who suffered from any illness or injury. The question asks the respondent if s/he
ever consulted any health workers such as a nurse, doctor or traditional healer in the past month, this includes both modern
and traditional practices. The enumerators are instructed that the consultation should only be related to the illness or injury
specified in the previous question and nothing else. Note must be taken for the respondents who answered “No” that they
must skip the questions to Q 1.40.
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Universe
All household members who were sick in the past month due to illness or injury.

Final code list
1=Yes

2=No

8 = Not applicable
9 = Unspecified

Kind of health worker (Q135typhh) (@109 2)

1.35 | For...’s most recent consultation, what kind of health
worker did he/she consult?
If more than one consultation, take the most recent.

1 =NURSE

2=DOCTOR

3 = MEDICAL SPECIALIST

4 = PHARMACIST/CHEMIST

5=DENTIST

6 = SPIRITUAL HEALER (CHURCH RELATED)
7 = TRADITIONAL HEALER

8 = ANY OTHER HEALTH CARE PROVIDER
Including psychologist, physiotherapist, chiropractor,
homeopath, optometrist

9 = DON'T KNOW

Note to users

This question is only applicable to respondents who answered “Yes” in Q 1.34 (Consulted a health worker). The enumerators
are instructed that if more than one consultation took place, they should consider the most recent one. These health workers
include both the modern and traditional practices.

Universe
All household members who consulted the health worker in the past month, due to injury or illness.

Final code list

= Nurse

= Doctor

= Medical specialist

= Pharmacist/chemist

= Dentist

= Spiritual healer (church related)
= Traditional healer

= Any other health care provider (Including psychologist, physiotherapist, chiropractor, homeopath, optometrist)
= Don’t know

88 = Not applicable

99 = Unspecified

O©Coo~No ok, wWN -

Type of sector (Q136Cons) (@111 2)

1.36 | Where did the consultation take place?
If more than one consultation, ask about the most
recent one.
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Public sector (i.e. government, provincial or
community institution)

01 = HosPITAL
02 = CLINIC
03 = OTHER IN PUBLIC SECTOR, specify

Private sector (including private clinics, surgery,
private hospitals and sangomas)

04 = HOSPITAL

05 = CLINIC

06 = PRIVATE DOCTOR/SPECIALIST

07 = TRADITIONAL HEALER

08 = PHARMACY/CHEMIST

09 = HEALTH FACILITY PROVIDED BY EMPLOYER
10 = ALTERNATIVE MEDICINE, E.G. HOMEOPATHIST
11 = OTHER IN PRIVATE SECTOR, specify

12 = DON'T KNOW

Note to users

This question is only applicable to respondents who answered “Yes” in Q 1.34 (Consulted a health worker). The enumerators
are instructed that if more than one consultation took place, we consider the most recent one. The interest in this question is
the place of consultation and the enumerators are instructed to determine whether the respondents used public or private
sector. The public sector includes government, provincial and community institutions; while private sector includes private
clinics and hospitals, surgeries, sangomas and traditional healers.

Universe
All household members who consulted the health worker in the past month, due to injury or illness.

Final code list

01 = Hospital

02 = Clinic

03 = Other in public sector, specify
04 = Hospital

05 = Clinic

06 = Private doctor/specialist

07 = Traditional healer

08 = Pharmacy/chemist

09 = Health facility provided by employer
10 = Alternative medicine, e.g. homeopathist
11 = Other in private sector, specify

88 = Not applicable

99 = Unspecified

1.37 | Did......experience any of the following during this | YES NO

particular visit to the health worker?

1 = Facilities not clean (11002
2 = Long waiting time [J1[]2
3 = Opening times not convenient 112
4 = Too expensive []1[]2
5 = Drugs that were needed, not available (112
6 = Staff rude or uncaring or turned patient away (1012
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7 = Incorrect diagnosis

agn: (110
8 = Other, specify in column [11[]2

Note to users

This question is only applicable to respondents who answered “Yes” in Q 1.34 (Consulted a health worker). The problems
should be related to the recent visit to the health worker. The enumerators are instructed to read out all the given options to the
respondents, to answer either a “Yes” or “No”. Note must be taken that for any other problem that is not covered in the given
categories, there is provision to specify them.

Universe
All household members who consulted the health worker in the past month, due to injury or illness.
Final code list

Facilities not clean (Q137facn) (@113 1)
1=Yes
2=No

8 = Not applicable
9 = Unspecified

Long waiting time (Q137wait) (@114 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Opening times not convenient (Q137time) (@115 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Too expensive (Q137tooe) (@116 1))
1="Yes
2=No

8 = Not applicable
9 = Unspecified

Drugs that were needed, not available (Q137drug) (@117 1)
1=Yes
2=No

8 = Not applicable
9 = Unspecified

Staff rude or uncaring or turned patient away (Q137staf) (@118 1))
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Incorrect diagnosis (Q137diag) (@119 1)
1="Yes

2=No

8 = Not applicable
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9 = Unspecified

Other (Q137othr) (@120 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Satisfaction (Q138Sati) (@121 1)
1.38 | How satisfied was ...... with the service he/she
received?

1 = Very satisfied

2 = Somewhat satisfied

3 = Neither satisfied nor dissatisfied
4 = Somewhat dissatisfied

5 = Very dissatisfied

6 = Don’t know

Note to users

This question is only applicable to respondents who answered “Yes” in Q 1.34 (Consulted a health worker). The degree of
satisfaction should be measured against the most recent visit. The interest in this question is on the level of satisfaction
received by the respondents while consulting the health workers.

Universe
All household members who consulted the health worker in the past month, due to injury or illness.

Final code list

1 = Very satisfied

2 = Somewhat satisfied

3 = Neither satisfied nor dissatisfied
4 = Somewhat dissatisfied

5 = Very dissatisfied

6 = Don’t know

8 = Not applicable

9 = unspecified

Payment for service (Q139Pays) (@122 1)

1.39 | Did ...... have to pay for this service?
1=YEs
2=No
3 =DON'T KNOW

—>GotoQ 141

Note to users

This question is only applicable to respondents who answered “Yes” in Q 1.34(Consulted a health worker). The question is
based on the most recent service while visiting the health worker. The interest in this question is on payment, when people are
consulting the health workers. This is regardless of whether the service was from the modern or traditional practices. For any
category in this question the instruction is to skip to Q 1.29.

Universe
All household members who consulted the health worker in the past month, due to injury or illness.
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Final code list
1=Yes

2=No

3 =Don’t know

8 = Not applicable
9 = Unspecified

Why not consult (Q140Ynot) (@123 1)

140 | Why did ...... not consult any health worker
during the past month?

1 = TOO EXPENSIVE

2 =TOOFAR

3 =NOT NECESSARY

4 = DON’T KNOW

5 = OTHER, specify in column underneath

Note to users

This question is only applicable to respondents who answered “No” in Q 1.34 (Consulted a health worker). The interest in this
question is to find out why people did not consult the health worker in the past month even though they were sick. For any
other reason that is not categorized there is provision to specify them.

Universe
All household members who did not consult the health worker in the past month.

Final code list

1 = Too expensive

2=Too far

3 = Not necessary

4 = Don’t know

5 = Other, specify in column underneath
8 = Not applicable

9 = Unspecified

Disability (Q141disa) (@124 1)

141 |lIs...... limited in his/her daily activities, at home, at work
or at school, because of a long-term physical, sensory,
hearing, intellectual, or psychological condition, lasting
six months or more?

1=YES

2=No — Goto Q1.43

Note to users

This question is applicable to the household as a whole on disability. The kind of disability that is considered here is the one
that limits a person to perform the daily activities and at least lasted for six months or more. For those who answered “No”
they must skip to Q 1.43.

Universe
The whole household on disability.

Final code list
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1=Yes
2=No
9 = Unspecified

1.42 | What difficulty or difficulties does ...... have? Isit .....

YES No
1 = Sight (blind/severe visual limitation) (11012
2 = Hearing (deaf, profoundly hard of hearing) [J10]2
3 = Communicating (speech impairment) [J10]2
4 = Physical (e.g. needs wheel chair, crutches or 11002
prosthesis; limb or hand usage limitation) 10702

5 = Intellectual (serious difficulties in learning, mental
retardation)

6 = Emotional (behavioral, psychological problems) L1102
7 = Other, specify in column L1102

Note to users

This question is only applicable to the households, which answered “Yes” in Q1.41 (Households with people with disabilities
which limit their daily activities). The enumerator is instructed to read out all the categories so that there can either be a
“Yes” or “No” answer. Moreover, it is sometimes possible for a person to suffer for more than one disability, hence the
categories have to be read out. For any other disability that is not categorized, there is provision to specify them.

Universe
Persons with disabilities from selected dwelling units.
Final code list

Sight (Q142sigh) (@125 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Hearing (Q142Hear) (@126 1))
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Communicating (Q142Spee) (@127 1)
1="Yes

2=No

8 = Not applicable

9 = Unspecified

Physical (Q142Phys) (@128 1))
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Intellectual (Q142Ment) (@129 1)
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1=Yes

2=No

8 = Not applicable
9 = Unspecified

Emotional (Q142Emot) (@130 1))
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Other (Q1420thr) (@131 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Epilepsy (Q143Epil) (@132 1)
1.43 | Has ... been diagnosed with epilepsy by a doctor?

1=YES

2=No —> Go to Q1.47

Note to users

This question applies to the whole household on whether they have been diagnosed with epilepsy by a doctor. Epilepsy is a
neurological disorder marked by episodes of sensory disturbances, loss of consciousness and/or convulsions. In this instance a
person has several seizures (blackouts) very often. Depending on the severance of the disease, the seizures can be weekly,
monthly or quarterly etc. Note the skip if “NO” go to Q1.47.

Universe
All the household members.

Final code list
1=Yes

2=No

9 = Unspecified

Tablet/Pill (Q144Tabl) (@133 1)

1.44 | Is ... receiving more than one type of tablet/pill to
treat the epilepsy?

1=YES

2=No }—) GoT10Q1.46

3 =DON’T KNOW

Note to the users
This question applies to the household members who answered, “YES” in Q1.43. The interest of this question is to measure
the extent of epilepsy. The instruction to the enumerator is that if the answer is “NO” and “Don’t know” there should be a skip

to the Q1.46.

Universe
Household member(s) who have answered “YES” in Q1.46.

37



Final code list
1=Yes

2=No

3 = Don’t know

8 = Not applicable
9 = Unspecified

Treatment time (Q145Trea) (@134 1)

1.45 | Has ... received treatment for epilepsy more than 1
year?

1=YES

2=No

3 =DON’T KNOW

Note to users
This question applies to the household members who answered, “YES” in Q1.43. The interest of this question is to measure
the extent of epilepsy.

Universe
Household member(s) who have answered, “YES” in Q1.43.

Final code list
1=Yes

2=No

3 =Don’t know

8 = Not applicable
9 = Unspecified

Seizures (Q146Seiz) (@135 1))

1.46 | How many seizures has ... had in the last
year?

1 =NoONE

2=17012

3 =13 OR MORE

4 = DON’T KNOW

Note to users
This question is only applicable to those who have any “Yes” in Q 1.43. The interest of this question is to measure the extent
of epilepsy. Note the time frame which is the past twelve months.

Universe
Household member(s) who have answered, “YES” in Q1.43.

Final code list
1 =None

2 =1to12

3 =13 or more
4 = Don’t know
9 = Unspecified
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Welfare office (Q147welf) (@136 1)

1.47 | During the past 12 months, did ...... make use of a
welfare office or services?

1=YES
2=No } — Goto Q1.50
3 =DON’T KNOW

Note to users
This question asks whether household member(s) made use of welfare office or services. The instruction to the enumerator is
that if the answer is “NO” or “DON’T KNOW?” there should be a skip to the Q1.50.

Universe
All household members.

Final code list
1=Yes

2=No

3 =Don’t know
9 = Unspecified

1.48 | Which of the following services/assistance did ...
make use of?

a. Social worker
1=YEs
2=No
3 =DON’T KNow

b. Social grant
1=YES
2=No
3 =DON’T KNow

c. Poverty relief/Job creation project
1=YES
2=No
3 =DON’T KNowW

Note to users

This question is only applicable to those who have any “Yes” in Q 1.47. This question is about the degree of satisfaction for
households regarding the service or assistance rendered by the Welfare Office. The enumerator has to remember to ask for the
“a, b and c¢” part of the question.

Universe
All households who received assistance from the Welfare Office.

Final code list

Social worker (Q148Soci) (@137 1))
1="Yes
2=No

3 =Don’t know
8 = Not applicable
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9 = Unspecified

Social grant (Q148Gran) (@138 1)
1=Yes
2=No

3 =Don’t know
8 = Not applicable
9 = Unspecified

Poverty relief (Q148Pove) (@139 1)
1=Yes

2=No

3 =Don’t know

8 = Not applicable

9 = Unspecified

Satisfied (Q149Sati) (@140 1))
1.49 | Ask only if there is a “YES” in any part of Q 1.48
How satisfied was ...... with the service/assistance

rendered at the welfare office?
1= Very satisfied
2 = Somewhat satisfied
3 = Neither satisfied nor dissatisfied
4 = Somewhat dissatisfied
5 = Very dissatisfied
6 = Don’t know

Note to users

This question is only applicable to those who have “Yes” in any part of Q 1.48 . This question is about the degree of
satisfaction for households for the most recent visit (if the welfare was visited more than once during the past 12 months)
regarding the service or assistance rendered by the Welfare Office.

Universe
All households, which received assistance from the Welfare Office.

Final code list

1 = Very satisfied

2 = Somewhat satisfied

3 = Neither satisfied nor dissatisfied
4 = Somewhat dissatisfied

5 = Very dissatisfied

6 = Don’t know

9 = Unspecified

1.50 | DOES... RECEIVE ANY OF THE FOLLOWING WELFARE
GRANTS?

a) Old age pension
1=Yes
2=No
3 = Don’t know
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b) Disability grant
1=Yes
2=No
3 =Don’t know

c) Child support grant
1=Yes
2=No
3 =Don’t know

d) Care dependency grant
1="Yes
2=No
3 =Don’t know

e) Foster care grant
1=Yes
2=No
3 = Don’t know

f) Grantinaid
1=Yes
2=No
3 = Don’t know

g) Social relief
1=Yes
2=No
3 = Don’t know

Note to users

This question is only applicable to those who have “Yes” in any part of Q 1.48. This question is about the degree of
satisfaction for households regarding the service or assistance rendered by the Welfare Office. The enumerator has to mark
each and every given category with either a “Yes” or a “No”. If the household receives any type of a grant for a child then the
option must be marked in the column of the specific child and not the parent.

Universe
All households, which received assistance from the Welfare Office.

Final code list

a) Old age pension (Q150Pens) (@141 1)
1=Yes
2=No

3 = Don’t know
9 = Unspecified

b) Disability grant (Q150Disa) (@142 1)
1=Yes
2=No
3 =Don’t know
9 = Unspecified
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¢) Child support grant (Q150Chil)
1=Yes
2=No
3 =Don’t know
9 = Unspecified

d) Care dependency grant (Q150Care)
1="Yes
2=No
3 =Don’t know
9 = Unspecified

e) Foster care grant (Q150Fost)
1=Yes
2=No
9 = Unspecified

f)  Grantinaid (Q150Gran)
1=Yes
2=No
9 = Unspecified

g)  Social relief (Q150Soci)

1=Yes
2=No
9 = Unspecified

STRATUM (Stratum)
Derived variable:

Derived from Type per Province
Valid range: 1 - 18
Values:

Western Cape — urban
Western Cape — non-urban
Eastern Cape — urban
Eastern Cape- non-urban
Northern Cape — urban
Northern Cape — non-urban
Free State — urban

Free State — non-urban
KwaZulu-Natal — urban

10. KwaZulu-Natal — non-urban
11. North West — urban

12. North West — non-urban

13. Gauteng — urban

14. Gauteng — non-urban

15. Mpumalanga — urban

16. Mpumalanga — non-urban
17. Limpopo — urban

18. Limpopo — non-urban

Primary Sampling Unit (PSU)
Valid range : 1011001 — 9312247
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WEIGHT (Pers_wgt) (@157 14.8)
Person weight
Valid range: 50 — 12915. 34877182

DATA FILE: WORKER
(Particulars of each person 15 years and above in the household)

Unique number (UgNr) (@1 13)
Note: This is the unique household identifier, which can be used to link data from this
file with data on the same households from other files.

Person number (PersonNr) (@14 2)
Person number
Valid range: 1 — 22
Note: The two fields above create a unique person identifier of 15 digits, which can be
used to link data from this file with data on the same individuals from other files.

Province (Prov) (@16 1)
South African provinces

Derived variable: Derived from the first digit of the Unique Number.
Valid range: 1 -9

Values:

Western Cape

Eastern Cape

Northern Cape

Free State

KwaZulu-Natal

North West

Gauteng

Mpumalanga

Limpopo

©CoNOOR~WNE

Gender (Gender) (@17 1)

C Is ...... a male or a female?
1=MALE
2 =FEMALE

Note to users
This question is asked for each household member, to determine his or her gender. The enumerators are instructed not to
assume the gender of the members of the households by just looking at people’s names or their physical appearances.

Universe
Every person who normally resides in this household at least four nights a week.

Final code list

1 = Male
2 = Female
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Age (Age) (@18 3.

D How old is ......7 (In completed years - In whole
numbers)

Note to users
This section covers activities of households members aged 15 and above in the last seven days,
unemployment and non-economic activities.

Universe
Every person who normally resides in this household at least four nights a week (Aged 15 and above).

Final code list
Valid range: 15— 108

Population group (popgrp) (@21 1)

E | What population group does ....... belong to?
1 = AFRICAN/BLACK

2 = COLOURED

3 = INDIAN/ASIAN

4 =\WHITE

5 = OTHER, specify

Note to users

This question is asked to determine the population group of persons from the selected dwelling. The respondent must answer
for each member without any assumptions. In this instance the enumerator is also instructed not to make any conclusions,
which may be influenced by his observation or using people’s names during the interview.

Universe
Every person who normally resides in this household at least four nights a week.

Final code list
1 = African/ Black

2 = Coloured
3 =Indian/ Asian
4 = White

SECTION 2 (Main work activities in the last seven days)
Note: This section was asked to all persons 15 years or above who were working or absent from work in the past seven days.

Person responding (Q20SelfR) (@22 1)

2.0 | Interviewer to answer
Is the person him/herself responding to questions?

1=YES
2=No

Note to users
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This is for the enumerator to answer. It is recommended that if all the members of the household who qualify for this section
are present, they should answer for themselves. It is through this question where the accuracy of the information received can
be qualified, as it would reflect whether people answered for themselves or used proxy.

Universe
All members of the household aged 15 and above.

Final code list
1 =Yes

2 =No

9 = Unspecified

2.1 | Inthe last seven days, did ...... do any of the following activities, even for only one hour?
Show prompt card 2.
a) Run or do any kind of business, big or small, for

himself/herself or with one or more partners?
Examples: Selling things, making things for sale, repairing things, guarding cars, brewing beer,
hairdressing, creche businesses, taxi or other transport business, having a legal or medical
practice, etc.
b) Do any work for a wage, salary, commission or

any payment in kind (excl. domestic work)?
Examples: a regular job, contract, casual or piece work for pay, work in exchange for food or
housing.

c) Do any work as a domestic worker for a wage, salary, or any payment in kind?

d)Help unpaid in a family business of any kind?
Examples: Help to sell things, make things for sale or exchange, doing the accounts, cleaning up
for the business, etc. Don't count normal housework.

e) Do any work on his/her own or the family’s plot, farm,
food garden, cattle post or kraal or help in growing farm produce or in looking
after animals for the household?

Examples: ploughing, harvesting, looking after livestock.

f) Do any construction or major repair work on his/her
own home, plot, cattle post or business or those of the family?

g) Catch any fish, prawns, shells, wild animals or other
food for sale or family food?

h)Beg for money or food in public?

Note to users

This question is applicable to all household members aged 15 and above, regarding their involvement with the economic
activities in the last seven days. This is part of the questionnaire where there would be a differentiation between economically
active population and those who are not economically active. The instruction to the enumerators is that these activities must
be for at least one hour within the seven days. In order to be certain that the categories have been answered there should either
be “Yes” or “No” in all of them. If the answer is “Yes” for a person in any part of Q2.1 then skip to Q2.4, and if No to all
options for a person then the enumerator has to continue with the next question.

Universe
All members of the household aged 15 and above.

Final code list
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Own business (Q21aOwnB) (@23
a) Run or do any kind of business, big or small, for himself/herself or with one or more partners?
1=Yes

2=No

9 = Unspecified

Paid work (Q21bPaid) (@24
b) Do any work for a wage, salary, commission or any payment in kind (excl. domestic work)?

1=Yes

2=No

9 = Unspecified

Domestic work (Q21cDome) (@25
c) Do any work as a domestic worker for a wage, salary, or any payment in kind?

1=Yes

2=No

9 = Unspecified

Unpaid work (Q21dUnPd) (@26
d) Help unpaid in a family business of any kind?

1=Yes

2=No

9 = Unspecified

Farm work (Q21eFarm) (@27
e) Do any work on his/her own or the family’s plot, farm, food garden, cattle post
or kraal or help in growing farm produce or in looking after animals for the household?
1=Yes
2=No
9 = Unspecified

Construction or major repair work (Q21fCons) (@28
f) Do any construction or major repair work on his/her own home, plot, cattle post
or business or those of the family?
1=Yes
2=No
9 = Unspecified

Catch fish (Q21gCtch) (@29
g) Catch any fish, prawns, shells, wild animals or other food for sale or family food?

1="Yes

2=No

9 = Unspecified

Beg for money or food (Q21hBeg) (@30
h) Beg for money or food in public?

1=Yes

2=No

9 = Unspecified

Have work (Q22HaveW) (@31

2.2 | If “NO” to all parts of Question 2.1
Even though ...... did not do any of these activities in
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the last seven days, does he/she have a job, business, or other economic
or farming activity that he/she will definitely return to?

For agricultural activities, the off season in agriculture is not
a temporary absence.

1=YES

2=No —>GotoQ2.11

Note to users

This is only applicable to household members who answered “No” to all the categories in Q 2.1.This question identify people
temporarily absent from their income earning and own production activities. The most common group is people on annual
leaves. They did not work in the past seven days, but they have a job to go back to and should be recorded as active in their
usual jobs as they are still part of the labour force. There is no time limit given, which for example, allows woman on
maternity leave to be recorded as temporally absent. It is relatively easy to identify people absent from wage jobs. It is more
difficult when the person is self-employed in a business activity or working on his/her own farm.

Note that if a person is not working because of the off-seasonal in agriculture or any other seasonal industries, s/he should not
be regarded as temporarily absent. If such a person is recorded as temporarily absent then we would miss any measure of
seasonal employment in particular.

For “No” response, the enumerator is instructed to skip to Q 2.11 and ask for the unemployment and non-economic activity
guestions.

Universe
All members of the household aged 15 and above.

Final code list
1 =Yes
2 =No

8 = Not applicable
9 = Unspecified

Main reason (Q23MainR) (@32 2)

2.3 |What was the main reason ...... was absent from this
activity in the last seven days? Mark only one reason.
01 = OWN ILLNESS OR INJURY
02 = CARING FOR FAMILY OR OTHERS (EXCEPT MATERNITY/
PATERNITY LEAVE)
03 = MATERNITY OR PATERNITY LEAVE
04 = OTHER FAMILY/COMMUNITY OBLIGATIONS (FUNERALS,
MEETINGS)
05 = STRIKE/STAY-AWAY/LOCKOUT
06 = PROBLEMS WITH TRANSPORT
07 = BAD WEATHER
08 = VACATION, LEAVE
09 = STUDY OR TRAINING LEAVE
10 = UNREST (VIOLENCE)
11 = TEMPORARILY LAID OFF/REDUCTION IN ECONOMIC ACTIVITY
12 = OTHER REASON, specify

Note to users

This question is aimed at finding out the reasons why people were absent from their normal activities in the seven days prior
the interview. If more than one reason is given, only the main one is recorded. A provision is made to specify the reasons that
are not on the pre-coded list.

Universe
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Members of the household aged 15 and older who were not involved in economic activities in the seven days prior the
interview but have a job\business to return to.

Final code list

01 = Own illness or injury

02 = Caring for family or others (except maternity/paternity leave)
03 = Maternity or paternity leave

04 = Other family/community obligations (funerals, meetings)
06 = Problems with transport

07 = Bad weather

08 = Vacation, leave

09 = Study or training leave

11 = Temporarily laid off/reduction in economic activity

12 = Other reason, specify

88 = Not applicable

99 = Unspecified

Person's occupation or job title (Q250ccup) (@34 4)
2.4 [Read out:
You said ...... was doing these activities during the

last seven days (or was temporarily absent).

Referto Q 2.1

What kind of work did ...... do in his/her main job
during the last seven days (or usually does, even if

he/she was absent in the last seven days)?

Give occupation or job title.

Work includes all the activities mentioned earlier

Record at least two words: Car sales person, Office

cleaner, Vegetable farmer, Primary school teacher, etc.

For agricultural work on own/family farm/plot, state whether
for own use or for sale mostly.

2.5 What were ...... 's main tasks or duties in this job?
Example: Selling fruit, repairing watches, keeping accounts, feeding and watering cattle

Note to users

This question is applicable to household members who have been performing certain economic activities in the seven days
prior the interview. The instruction to the enumerator is to give person's occupation/job title even if the activity was
performed just an hour before the interview. It is important that the occupation is in English as the occupational codes are only
in this language.

Universe

All members of the households in selected dwelling units aged 15 and above who were economically active in the seven days
prior the interview.

Final code list

Valid range: 0850 — 9888

Not applicable: 8888

Unspecified: 9999
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Note: Questions 2.4 and 2.5 were written-in. The responses from both questions were used to determine the occupation. The
occupation was coded to four digits on the basis of the International Standard classification of Occupations (ISCO 88) (see
elsewhere in documentation for codes).

Industry activity (Q27Indus) (@38 3)

2.6 |What is the nameof ...... 's place of work?

For government or large organisations, give the name of
the establishment and branch or division: e.g. Education
Dept - Rapele Primary School; ABC Gold Mining,
Maintenance Div.

\Write 'Own house' or 'No fixed location’, if relevant.

2.7 |What are the main goods and services produced at ...... 's place of work? What are
its main functions?

Examples: Repairing cars, Selling commercial real estate,
Sell food wholesale to restaurants, Retail clothing

shop, Manufacture electrical appliances, Bar/ restaurant,
Primary Education, Delivering newspapers to homes.

Note to users

This question is applicable to household members who have been performing certain economic activities in the seven days
prior the interview. It is important that the industry is in English as the industry codes are only in this language. The
instruction to the enumerator is to ask the respondent to name the place of work where the main tasks were performed in the
last seven days as it has been reflected in Q 2.4. For hawkers and others without a specific place to work, they have to write
“No fixed location”. Questions 2.6 and 2.7 were written-in. The responses to these two questions were used to determine the
industry. The industry was coded to three digits on the basis of the International Standard Industrial Classification of all
Economics activities (ISIC) 1993 (see code list for industry).

Universe
All members of the households in selected dwelling units aged 15 and above who were economically active in the seven days
prior the interview

Final code list
Valid range : 010 - 990
Unspecified : 999

Total salary/pay (Q28Salto) (@41 7)

2.8 | Whatis ...... ’s total salary/pay at his/her main job?
Including overtime, allowances and bonus, before any tax

or deductions.
Give amount in whole figures, without any text or decimal.
If ”None ”, "Refuse” or "Don’t know”— Go to Q2.10

Note to users

This question is applicable to household members who were involved in economic activities in the last seven days (from Q
2.1and Q 2.2: “Yes”). The total salary includes overtime, allowances, bonus and any deductions before tax. The enumerators
are instructed to give the amounts in whole figures without any text or decimals. For none response there should be a skip to
Q 2.10.
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Universe
All members of the household aged 15 and above involved in economic activities.

Final code list

Valid range  : 0000006 - 0360000
Not applicable : 8888888
Unspecified : 9999999

Salary period (Q29Salpe) (@48 1)

2.9 | Only if amount given in Q 2.8
Is this

1 = Per week
2 = Per month
3 = Annually

Note to users

This question is applicable to household members who were involved economic activities in the last seven days (from Q 2.1
and Q 2.2: “Yes”). This question can only be answered if there is an answer in the previous question Q 2.8. Based on the
information in Q 2.8, the answer should be classified into the appropriate category in this question (Weekly, monthly or
annually).

Universe

All members of the household aged 15 and above involved in economic activities.

Final code list

1 = Per week

2 = Per month

3 = Annually

8 = Not applicable
9 = Unspecified

Income Categories (Q210Salc) (@49 2)
2.10 | Only if “NONE”, “REFUSE” or “DON’T KNOW” in Q 2.8
Show the categories. Make sure the respondent points at the correct income column
(weekly, monthly, annually) on prompt card 3 and mark the applicable code.
Weekly Monthly Annually
01 NONE NONE NONE
02 R1-R46 R1-R200 R1-R2400
03 R47 - R115 R201 - R500 R2 401 - R6 000
04 R116 - R231 R501 - R1 000 R6 001 - R12 000
05 R232 - R346 R1001 - R1 500 R12 001 - R18 000
06 R347 = R577 R1501=R2500 R18 001 - R30 000
07 R578 - R808 R2501 - R3500 R30001 - R42 000
08 R809 - R1039 R3501 - R4 500 R42 001 - R54 000
09 R1 040 - R1 386 R4 501 - R6 000 R54 001 - R72 000
10 R1387 - R1848 R6 001 - R8 000 R72 001 - R96 000
11 R1849 - R2 540 R8 001 - R11 000 R96 001 - R132 000
12 R2541 - R3695 R11001 - R16 000 R132 001 - R192 000
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13 R3696 - R6 928 R16 001 - R30 000 R192 001 - R360 000
14 R6 929 OR MORE R30 001 OR MORE R360 001 OR MORE
15 DON'T KNOW DON'T KNOW DON'T KNOW
16 REFUSE REFUSE REFUSE

—>Go t0 Q2.18

Note to users

This question is applicable to household members who have been performing certain economic activities in the last seven
days (from Q 2.1 and Q 2.2: “Yes”). This question is only applicable if there was no answer in Q 2.8, thus in case of a non-
response, refusal or don’t know. Since this kind of information is very personal the enumerator is instructed to inform the
respondent that there are certain closures (Acts of confidentiality) that protect individuals in cases of these nature. Statistics
South Africa as a government department is therefore compelled to abide by them. The instruction to the enumerator is to skip
to Q2.18 after the respondent has answered this question.

Universe
All members of the household aged 15 and above who were economically active in the last seven days.

Final code list
Valid range: 1 - 16
Not applicable: 88
Unspecified: 99

(Unemployment and non-economic activities)

Note: this section was asked only to household members aged 15 and above who did not work in the seven days prior to the
interview and did not have a job.

Reason for not working (Q211Ynot) (@51 2)
Why did ...... not work during the past seven days?

2.11 01 = Has found a job, but is only starting at a DEFINITE DATE in the future — Goto Q 2.15
02 = Scholar or student and prefers not to work

03 = Housewife/homemaker and prefers not to work

04 = Retired and prefers not to seek formal work

05 = Illness, invalid, disabled or unable to work (handicapped)

06 = Too young or too old to work

07 = Seasonal worker, e.g. fruit picker, wool-shearer

08 = Lack of skills or qualifications for available jobs

09 = Cannot find any work

10 = Cannot find suitable work (salary, location of work or conditions not satisfactory)
11 = Contract worker, e.g. mine worker resting according to contract

12 = Retrenched

13 = Other reason

Note to users

This is applicable to all household members aged 15 and above who did not work and did not have a job to return to in the
seven days prior the interview (those with “No” in Q 2.2). The intention of this question is to find out the reasons people were
not working in the seven days prior to the interview. For any other reason that is not specified in the given categories there is
provision to specify it. However, if the person has found a job and is supposed to start at a definite date in the future, there
should be a skip to Q 2.15.
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Universe

All household members aged 15 and above who did not work and did not have a job to return to in the seven days prior to the
interview.

Final code list

01 = Has found a job, but is only starting at a definite date in the future
02 = Scholar or student and prefers not to work

03 = Housewife/homemaker and prefers not to work

04 = Retired and prefers not to seek formal work

05 = lllness, invalid, disabled or unable to work (handicapped)

06 = Too young or too old to work

07 = Seasonal worker, e.g. fruit picker, wool-hearer

08 = Lack of skills or qualifications for available jobs

09 = Cannot find any work

10 = Cannot find suitable work (salary, location of work or conditions not satisfactory)
11 = Contract worker, e.g. mine worker resting according to contract
12 = Retrenched

13 = Other reason

88 = Not applicable

99 = Unspecified

Accept job (Q212Acce) (@53 1))
2.12 | If asuitable job is offered, will ...... accept it?

1=YEs

2=No

3 =DON'T KNOW } —->GotoQ2.15

Note to users

This is applicable to all household members aged 15 and above who did not work and were absent from work in the last seven
days (those with “No” from Q 2.2). The interest in this question is to determine whether people can accept suitable job if
given. For those who answered “No” and “Don’t know” there should be a skip to Q 2.15.

Universe
All household members aged 15 and above who did not work in the last seven days and did not have job to return to.

Final code list
1=Yes

2=No

3 = Don't know

8 = Not applicable
9 = Unspecified

Start working (Q213Whns) (@54 1)

2.13 | Howsooncan ...... start work?

1 =WITHIN A WEEK

2 =WITHIN TWO WEEKS

3 =WITHIN FOUR WEEKS

4 = LATER THAN FOUR WEEKS FROM NOW
5= DON'T KNOW
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Note to users
This question is only applicable if a person is prepared to accept a suitable job offer as reflected in the previous question (Q
2.12). The interest is to determine within which period a person would resume the given job.

Universe
All household members who would accept a suitable job if offered.

Final code list

1 = Within a week

2 = Within two weeks

3 = Within four weeks

4 = Later than four weeks from now
5 = Don't know

8 = Not applicable

9 = Unspecified

2.14 | During the past four weeks, has ...... taken any
action

1 = to look for any kind of work
2 = to start any kind of business

Note to users

This question is only applicable if a person is prepared to accept a suitable job offer as reflected in question (Q 2.12). The
interest is to find out whether a person has taken any action to look for a job in the past four weeks. The instruction to the
numerator is to complete both given categories with either a “Yes” or “No” answer.

Universe
All household members who have taken action to look for work in the past four weeks.

Final code list

Look for work (Q214Look) (@55 1)
1) To look for any kind of job

1=Yes

2=No

8 = Not applicable

9 = Unspecified

Start business (Q214Star) (@56 1.
2) To start any kind of business

1=Yes

2=No

8 = Not applicable

9 = Unspecified

Ever worked (Q215Ever) (@57 1)
215 | Has ...... ever worked before?

1=YES

2=No — Goto Q217
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Note to users

This is applicable to household members who answered “No” to all the categories in Q 2.1 and answered Q 2.10. Regardless
of whether a person is unemployed or not economically active the interest in this question is to find out whether a person has
ever worked before. For those who answered “No” in this question they should skip to Q 2.17.

Universe
All household members who are not economically active.

Final code list
1="Yes

2=No

8 = Not applicable
9 = Unspecified

Time since last worked (Q216Tmga) (@58 2.)

2.16 | How long ago was it since ...... last worked?
01 =1 WEEK - LESS THAN 1 MONTH

02 =1 MONTH - LESS THAN 2 MONTHS
03 =2 MONTHS - LESS THAN 3 MONTHS
04 = 3 MONTHS - LESS THAN 4 MONTHS
05 =4 MONTHS - LESS THAN 5 MONTHS
06 =5 MONTHS - LESS THAN 6 MONTHS
07 =6 MONTHS - LESS THAN 1 YEAR
08 =1 YEAR - LESS THAN 2 YEARS

09 =2 YEARS - LESS THAN 3 YEARS

10 =3 YEARS OR MORE

11 = DON'T KNOW

Note to users

This is only applicable if there is a “Yes” in the previous question Q 2.14. The interest in this question is to find out for how
long a person has worked in the last job he/she occupied. The instruction to the enumerator is to probe for more information,
as people in this caliber are usually uncertain of the required information.

Universe
All household members who are currently not working but have worked before.

Final code list

01 = 1 week - less than 1 month
02 = 1 month - less than 2 months
03 = 2 months - less than 3 months
04 = 3 months - less than 4 months
05 = 4 months - less than 5 months
06 = 5 months - less than 6 months
07 = 6 months - less than 1 year
08 =1 year - less than 2 years

09 = 2 year - less than 3 years

10 = 3 years or more

11 = Don't know

88 = Not applicable

99 = Unspecified
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2.17 | How does ...... support him/herself?

1 = Did odd jobs during the past seven days

2 = Supported by persons in the household

3 = Supported by persons not in the household
4 = Supported by charity, church, welfare, etc.
5 = Unemployment Insurance Fund (UIF)

6 = Savings or money previously earned

7 = Old age or disability pension

8 = Other sources, e.g. bursary, study loan, specify in
column

If “YES” to response category 1

— Go back to Q 2.1 for that person

Note to users

This is applicable to all persons unemployed or not economically active regardless of whether a person has worked before or
not. The interest in this question is to find out how people support themselves even though they are not working. The
enumerator is instructed to ask all the given categories. There should either be a “Yes” or “No” for each category. For any
other reason that is not categorised the enumerator has to complete the information in the provided space. If the answer is
code “1 “= Did odd jobs during the past seven days, then the instruction to the enumerator is to go back to Q 2.1.

Universe
All household members aged 15 and above who are unemployed or not economically active.

Final code list

Odd jobs (Q2170ddjj) (@60 2.)
1) Did odd jobs during the past seven days

1 =Yes

2 =No

88 = Not applicable

99 = Unspecified

Supported by persons in the household (Q217InhHH) (@62 2.)
2) Supported by persons in the household

1 =Yes

2 =No

88 = Not applicable

99 = Unspecified

Supported by persons not in the household (Q217NotHH) (@64 2)
3) Supported by persons not in the household

1 =Yes

2 =No

88 = Not applicable

99 = Unspecified

Supported by charity, church, welfare, etc. (Q217Charr) (@66 2.)
4) Supported by charity, church, welfare, etc.

1 =Yes

2 =No

88 = Not applicable
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99 = Unspecified

Unemployment Insurance Fund (Q217UIFSS) (@68 2.)
5) Unemployment Insurance Fund (UIF)
1 =Yes
2 =No
88 = Not applicable
99 = Unspecified
Savings or money previously earned (Q217Savii) (@70 2)
6) Savings or money previously earned
1 =Yes
2 =No
88 = Not applicable
99 = Unspecified
Old age or disability pension (Q217Penss) (@72 2)
7) Old age or disability pension
1 =Yes
2 =No
88 = Not applicable
99 = Unspecified
Other sources (Q2170thrr) (@74 2)
8) Other sources, e.g. bursary, study loan, specify in column
1 =Yes
2 =No
88 = Not applicable
99 = Unspecified
Programme (Q218Prog) (@76 1))
2.18 | Has ...... participate in a job creation programme
or expanded public works programme?
1=YES
2=No — Go to Section3

Note to the users

The question asks if the responded had ever participated in any job creation programs like where people plant fruits and/or
vegetables and sell them later, people get trained to manufacture things and sell them. If the answer is “No” then the
enumerator will skip to Section 3.

Universe
All household members.

Final code list
1=Yes
2=No
9 = Unspecified
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2.19 | What, if any, were the benefits of attending this
programme?

a) Acquired new skills
b) Got a sustainable job (job lasting six months or more)

c) Started own business using skills and experience
acquired

d) Opportunity for further training

Note to the users

The question is being asked to all household members and the purpose of this question is to get the information on whether
there was any benefits after attending the job creation programme or expanded public works programme. The enumerator has
to read out all the options to the respondent and record either “Yes” or “No”.

Universe
All household members who answered “Yes” in Q2.18.

Final code list

(a) Acquire new skills (Q219NewsS) (@77 1))
1 =Yes

2 =No

9 = Unspecified

(b) Got a sustainable job (Q219Sust) (@78 1.
3) Supported by persons not in the household

1 =Yes

2 =No

9 = Unspecified

(c) Started own business using skills and experience acquired (Q219Star) (@79 1)
4) Supported by charity, church, welfare, etc.

1 =Yes

2 =No

9 = Unspecified

(d) Opportunity for further training (Q219Furt) (@80 1)
1 =Yes

2 =No

9 = Unspecified

2.20 | What kind of skills did ........ acquire during the
programme?

a) Contructed related

b) Home- based care

c) Early childhood development

d) Forestry

e) Agriculture and animal husbandry

f) Numeracy/ literacy

g) HIV/ AIDS awareness

h) Enviromental awareness

i) Caree awareness

j) Business skills
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| k) Other, specify in a box at the bottom

Note to the user
This question is asked to all members of the household. The question is about the kind of skills that the respondent has
acquired by attending the job creation programme or expanded public works programme mentioned in Q2.18.

Universe
This question is asked to all members of the household; who have participated in job creation or expanded public works
programme.

Final code list

a) Constructed related (Q220Cons) (@81 1)
1=Yes

2=No

9 = Unspecified

b) Home- based care (Q220HmeB) (@82 1)
1=Yes

2=No

9 = Unspecified

c) Early childhood development (Q220Chil) (@83 1)
1="Yes

2=No

9 = Unspecified

d) Forestry (Q220Fore) (@84 1)
1="Yes

2=No

9 = Unspecified

e) Agriculture and animal husbandry (Q220Agri) (@85 1)
1=Yes

2=No

9 = Unspecified

f) Numeracy/ literacy (Q220Nume) (@86 1.
1=Yes

2=No

9 = Unspecified

g) HIV/ AIDS awareness (Q220HIVA) (@87 1)
1=Yes

2=No

9 = Unspecified

h) Environmental awareness (Q220EnvA) (@88 1)
1=Yes

2=No

9 = Unspecified

58



1) Career awareness (Q220Care)
1=Yes

2=No

9 = Unspecified

J) Business skills (Q220Busn)
1=Yes

2=No

9 = Unspecified

k) Other, specify in a box at the bottom (Q2200thr)
1="Yes

2=No

9 = Unspecified

Main industry (indus)

Derived variable: Derived from Question 2.6.
Valid range: 01 - 12

Not applicable: 88

Unspecified: 99

Code for derivation:
Indus=0
indus="00";

if statusl ne 1 then Iindus="88";
1T q271indus="090" then Indus="90";

ifT 100<= g27indus=<199 then iIndus ="01";
1T 200<= g271ndus=<299 then iIndus ="02";
if 300<= g27indus=<399 then iIndus ="03";
iT 400<= g271ndus=<499 then iIndus ="04";
1T 500<= g271ndus=<599 then Indus ="05";
iIT 600<= g27indus=<699 then iIndus ="06";
iT 700<= g271ndus=<799 then iIndus ="07";

iT 800<= g27indus=<889 and g27indus

ne 888 then indus ="08";

900<= q27indus=<997 then indus ="09";
q27indus=010 then indus ="10";

020<= g27indus=<030 then iIndus ="117;
040<=g271ndus<=060 then indus ="12";

statusl ne 1 and indus ne "88" then indus="88";
statusl=2 and indus ne "88" then Indus=-"88";

if indus="00" or q27indus=999 then indus='99';

=h =h =h =h =h =h

Final code list

1 = Agriculture, hunting, forestry and fishing
2 = Mining and quarrying

3 = Manufacturing

4 = Electricity, gas and water supply

5 = Construction

6 = Wholesale and retail trade

7 = Transport, storage and communication
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8 = Financial intermediation, insurance, real estate and business services
9 = Community, social and personal services

10 = Private households

11 = Exterior organisations and foreign government

12 = Other

88 = Not applicable

99 = Unspecified

Main occupation (Occup) (@94 2)
Derived variable: Derived from Question 4.1.

Valid range: 1 - 97

Not applicable: 88

Unspecified: 99

Code for derivation:
occup="00-;

ifT (1110<=g250ccup=<1999 ) then occup ="01";

1T (2111<=g250ccup=<2999 ) then occup ="02";

if (3111<=g250ccup=<3999 ) then occup ="03";

iIT (4111<=g250ccup=<4999) then occup ="04";

1T (5111<=g250ccup=<5999) then occup ="057;

ifT (6111<=g250ccup=<6999 ) then occup ="06";

1T (7111<=g250ccup=<7999) then occup ="07"7;

iIf (8111<=g250ccup=<8999) and g25occup ne 8888 then occup ="08";
iT (9111<=g250ccup=<9998) then occup ="097;

1T g250ccup=9131 and iIndus=10 then occup ="107;

if g250ccup="0850" then occup ="97";

iT occup="00" and g25occup="0840" then occup=-"91~;
1T occup="00" and g25occup="0830" then occup="99~;
iT occup="00" and g25occup=9999 then occup="99-;
if statusl ne 1 then occup=-"88~;

Final code list
1 = Legislators, senior officials and managers
2 Professionals

3 =Technical and associate professionals

4 =Clerks
5

6

7

8

= Service workers and shop and market sales workers
= Skilled agricultural and fishery workers

Craft and related trades workers

Plant and machine operators and assemblers

9 = Elementary Occupation

10 = Domestic workers

88 = Not applicable

97 = Occupation not adequately defined

99 = Unspecified

Official unemployment definition (Statusl) (@96 1))
Derived variable: Derived from a logical series of steps involving Worked past 7 days, Job although absent, Work category,
Reason absent from work, Acceptance of job, Time to start work, Work seeking action.
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Note: The difference between this and the following variable is that, to qualify as unemployed, a person needs to be willing
to accept work within two weeks and have taken action to find work during the past month. If these conditions are not
satisfied, the person is classified as not economically active.

Valid range: 0 - 2

Final code list

0 = Not economically active
1 = Employed

2 = Unemployed

Code for derivation
status1=0;
reason=g211Ynotw+0;

iT q2laownb=1 or g2lbpaid=1 or g2lcdome=1 or g2ldunpd=1
or g2lefarm=1 or ¢g21fcons=1 or g2lgctch=1 or g22havew=1 then
statusl=1;

ifT g211Ynotw=1 or g2llYnotw=2 or (8<=g2llYnotw<=12) then statusl=2;
if statusl=2 and (g2l2acce=>2 or g213whns>2) then statusl=0;

if statusl=2 and (g2l14look>1 and g2l14bgnb>1) then statusl=0;

if reason=1 then statusl=2;

Expanded unemployment definition (Status2) (@97 1)
Derived variable: Derived from a logical series of steps involving Worked past 7

days, Job although absent, Work category, Reason absent from work, Acceptance of job,

time to start work.

Note: The difference between this and the following variable is that, to qualify as
unemployed, a person needs to be willing to accept work within four weeks.

Note: See “Official employment status” variable
Valid range: 0 — 2

Final code list

0 = Not economically active
1 = Employed

2 = Unemployed

Code for derivation
status2=0;

reason=g211Ynot+0;

iT q2laownb=1 or g2lbpaid=1 or g2lcdome=1 or g2ldunpd=1

or g2lefarm=1 or ¢g21fcons=1 or g2lgctch=1 or g22havew=1 then status2=1;
iT reason=1 or reason=2 or (8<=reason<=12) then status2=2;

1T status2=2 and (g2l2acce=>2 or 213whns>3) then status2=0;

iT reason=1 then status2=2;
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STRATUM (Stratum) (@98 2)
Derived variable: Derived from Type per Province

Valid range: 1 - 18

Values:

1. Western Cape — urban

2. Western Cape — non-urban
3. Eastern Cape — urban

4. Eastern Cape- non-urban

5. Northern Cape — urban

6. Northern Cape — non-urban
7. Free State — urban

8. Free State — non-urban

9. KwaZulu-Natal — urban

10. KwaZulu-Natal — non-urban
11. North West — urban

12. North West — non-urban
13. Gauteng — urban

14. Gauteng — non-urban

15. Mpumalanga — urban

16. Mpumalanga — non-urban
17. Limpopo — urban

18. Limpopo — non-urban

Age group (Agegroup) (@100 2.)
Valid range : 04 — 16
04 =15 - 19 years
05 =20 - 24 years
06 = 25 - 29 years
07 = 30 - 34 years
08 = 35 - 39 years
09 =40 - 44 years
10 =45 - 49 years
11 =50 - 54 years
12 =55 - 59 years
13 =60 - 64 years
14 = 65 - 69 years
15=70 - 74 years
16 =75 - 79 years

Primary Sampling Unit (PSU ) (@102 7)
Valid range : 1011001 - 9312247

Weight (worker_wgt) (@109 14.8)
This is the individual/person weight, identical to that in the PERSON file.
Valid range: 50 — 12915.34877182
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DATA FILE: TOURISM

This file contains tourism variables
Unique number (UgNr) (@1 13)
Unique household identifier
Note: This is the unique household identifier, which can be used to link data from this
file with data for the same households from other files.

Province (Prov) (@14 1)
Derived variable: Derived from the 1* digit of the Unique Number.
Valid range: 1 -9

Values:

1 = Western Cape

2 = Eastern Cape

3 = Northern Cape

4 = Free State

5 = KwaZulu-Natal

6 = North West

7 = Gauteng

8 = Mpumalanga

9 = Limpopo

SECTION 3

Trips (Q31Trips) (@15 1)

3.1 | During the past 12 months did one or more members
of the household undertake any trip/s that lasted at
least one night away from home?

1=YES

[]1
2=No } — Go to next Section |:| 2
3 =DON’T KNOW |:| 3

Note to users

This question is about the members of households who undertook a trip in the past 12 months that lasted at least one night
away from home. The instruction is that for those who answered “No” or “Don’t know” in this question they should skip to
the next section.

Universe
Every member of the household who normally resides in this household at least four nights a week.

Final code list
1=Yes

2=No

3= Do not know
9= Unspecified

3.2 | How many trips did one or more members of the
household take ...

In the past 4 Weeks? .......cooviiiiiiiiiiiie e,

Inthe past 12 months? ................ccoeiiie i,
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Note to users
This question asked to the members of the household about number of trips undertaken by members of households.

Universe
Persons who undertook a trip in the past 12 months that lasted at least one night away from home.

Final code list

Trips in past 4 weeks (Q32Pst4w) (@16 2)
Valid range: 00 -20

Not applicable: 88

Unspecified : 99

Trips in past 12 months (Q32Pst12) (@18 3.)
Valid range: 00 - 96

Not applicable: 88

Unspecified : 99

3.3 How many of these trips were ... NUMBER | DON’T
OFTRIPS | KNOW

1. Trips where all nights were spent only in []
South Africa.
2. Trips where all nights were spent only outside L]
South Africa.
3. Trips that included nights spent in South L]

Africa and outside South Africa

Note to users
This question is about the number of trips taken in South Africa and outside South Africa.

Universe
Persons who undertook a trip in the past 12 months that lasted at least one night away from home.

Final code list

Trips in South Africa (Q33linsa) (@21 3)
Valid range: 00 — 96

Not applicable: 88

Unspecified : 99

Don’t Know (Q331Dkno) (@24 1)
Valid value: 1

Not applicable: 8

Unspecified :9

Trips outside South Africa (Q3320uts) (@25 2)
Valid range: 00 — 30

Not applicable: 88

Unspecified :99

Don’t know (Q332Dkno) (@27 1)
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Valid value: 1
Not applicable: 8
Unspecified : 9

Trips inside and outside South Africa (Q333Inou) (@28 2)
Valid range: 00 — 16

Not applicable: 88

Unspecified :99

Don’t know (Q333Dkno) (@30 1)
Valid value: 1

Not applicable: 8

Unspecified : 9

Main reason for trip (Q34Mainr) (@31 1)

3.4 | Considering the last trip undertaken by one or
more members of the household, what was the
main reason for this trip? Was ita ...

1 = Holiday trip
2 = Trip visiting friends or family
3 = Business or professional trip

4 = Study trip
5 = Other (e.g. medical, religious, funeral, etc.)

Note to users

This question is about the reason for the last trip undertaken by one or more members of the household. The emphasise should
be on the last trip whether it was important or not, even if less money was spent than the rest. It must be noted that people who
took the trip with the intention of making profits are not included in this category.

Universe
Persons who undertook a trip in the past 12 months that lasted at least one night away from home

Final code list

1 = Holiday trip

2 = Trip visiting friends or family
3 = Business or professional trip
4 = Study trip

5 = Other

8= Not applicable

9 = Unspecified

3.5 | How long was this trip? NUMBER OF DON’T KNOW
NIGHTS

[

a. Number of nights spent away from home?

Note to users
This question is about the duration of the last trip taken in terms of the number of nights spent away from home.

Universe
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Persons who undertook a trip in the past 12 months that lasted at least one night away from home

Final code list

Number of nights (Q35Nrnig) (@32 3)
Valid range: 000 — 240

Not applicable: 888

Unspecified :999

Don’t know (Q35Dknow) (@35 1)
Valid value: 1

Not applicable: 8

Unspecified : 9

3.6 |How many members of this household went along | NUMBER OF| DON’T
on this last trip? HOUSEHOL | KNOw

D MEMBERS

Children aged 12 years or less .........

Persons aged 13 to 20 years ..................

Persons aged 21 to 64 years ............

® | |o o |

Add a + b + ¢ + dto confirme.

Note to users

The intention of this question is to determine the composure of trips taken by members of the households. For example if the
families do travel with their siblings or not e.g. children etc. The other intention is to determine which age groups travels the
most versus others. It must be noted that the enumerator has to add the number of people from category (a) to (d) to confirm

(€).

Universe
Persons who undertook a trip in the past 12 months that lasted at least one night away from home.

Final code list

Aged 12 years or less (Q36aChil) (@36 2)
Valid range: 00 — 06

Not applicable: 88

Unspecified : 99

Don’t know (Q36aDkno) (@38 1)
Valid value: 1

Not applicable: 8

Unspecified : 9

Aged 13 to 20 (Q36bPsn1) (@39 2)
Valid range: 00 — 06

Not applicable: 88

Unspecified : 99
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Don’t know (Q36bDkno) (@41 1)
Valid value :1

Not applicable: 8

Unspecified :9

Aged 21 to 64 (Q36¢cPsn2) (@42 2)
Valid range: 0 - 8

Not applicable: 88

Unspecified :99

Don’t know (Q36¢cDkno) (@44 1)
Valid value : 1

Not applicable: 8

Unspecified : 9

Aged 65 years and above (Q36dPsn6 ) (@45 2)
Valid range: 00 — 04

Not applicable: 88

Unspecified : 99

Don’t know (Q36dDkno) (@47 1)
Valid value : 1

Not applicable: 8

Unspecified : 9

Total (Q36eTota) (@48 2)
Valid range: 00 — 16

Not applicable: 88

Unspecified: 99

Package trips (Q37Packa) (@50 1)
3.7 |Was this a package trip?
1=Yes
2=No } — GO TOQ3.11 11
3 = Don’t know (12
[]3

Note to users

This question asks whether the last trip undertaken was a package trip or not. A packaged trip is a single product that
combines two or more travel services, for example (transport, accommodation, meals, entertainment, sightseeing etc). This
package trip can be sold through the travel agencies or directly to the final consumers as a single product, for a global price.
The enumerator is instructed to skip to Q3.11 for those who have answered “No” or “ Don’t know”.

Universe
Every person who normally resides in this household at least four nights a week.

Final code list
1=Yes

2=No

3 = Don’t know
8= Not applicable
9= Unspecified
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3.8 |How much did this last package trip cost for.... AMOUNT | DON’T
KNOW

Adda+ b+ c+dtoconfirme.

Note to users

The enumerator has to ask for the cost related to the package only. It is normal that the people would spend additional money
on this trip especially when the package does not cover everything such as food etc. It must be noted that the enumerator has
to add the number of people from category (a) to (d) to confirm (e).

Universe
Persons who undertook a trip in the past 12 months that lasted at least one night away from home.

Final code list

Aged 12 years or less (Q38aChil) (@51 6.)
Valid range: 000000 - 012000

Not applicable: 888888

Unspecified: 999999

Don’t know (Q38aDkno) (@57 1)
1 = Valid value

8 = Not applicable

9 = unspecified

Aged 13 to 20 (Q38bPsn1) (@58 6.)
Valid range: 000000 - 020000

Not applicable: 888888

Unspecified : 999999

Don’t know (Q38bDkno) (@64 1))
1 = Valid value

8 = Not applicable

9 = unspecified

Aged 21 to 64 (Q38cPsn2) (@65 6.)
Valid range: 000000 - 045000

Not applicable : 888888

Unspecified : 999999

Don’t know (Q38cDkno) (@71 1)
1 = Valid value

8 = Not applicable

9 = unspecified

Aged 65 years and above (Q38dPsn6) (@72 6.)
Valid range: 000000 - 030000
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Not applicable: 888888
Unspecified: 999999

Don’t know (Q38dDkno) (@78 1.
1 = Valid value

8 = Not applicable

9 = unspecified

Total (Q38eTota) (@79 6.)

Valid range: 000001- 052000
Not applicable: 888888
Unspecified: 999999

3.9 | Please indicate which of the ITEMS VALUE DON’T
following items were included in INCLUDED KNOW
the package and state the value of | |\ THE
each item, ...... PACKAGE

a. Airfare YES NO L
b. Land transport [J1[]2 N
¢. Accommodation (1102 []
d. Food and beverages
e. Leisure and entertainment

(i) Break fast 112 ]
(i) Lunch [J1[]2 ]
(iii) Dinner 1[]2 ]
f.Leisure and entertainment [11[]2

(e.g. payments to a botanical []
garden, zoo etc)
g. Medical expenses 112 L
h. Shopping [J1[]2 n
i. Other (]1[]2 L]
j. Total trip 1102 []

Note to users

This question Q3.10 is a combination of both the cost of the package trip and the other money spent on other things. The
figure in category (a) Package trip should be the same as the one in Q3.9. The idea behind items included in the package is to
unpack whatever has been paid for in the package trip, hence a person has only to tick “Items included in the package” but
without any amounts. That means you only the amount spent/consumed on other things not included in the package.

Universe
Only those who have answered “No” or “ Don’t know” in Q3.1
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Final code list:
Airfare (Q39aAirf)
1=Yes

2=No

8 = Not applicable
9 = Unspecified

Airfare costs (Q39acost)
Valid range: 000000 - 023000
Not Applicable: 8388888
Unspecified: 999999

Don’t know (Q39aDkno)
1 = Valid value

8 = Not applicable

9 = Unspecified

Land transport (Q39bLand)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Land transport cost (Q39bcost)
Valid range: 000000 - 009000
Not Applicable: 888888
Unspecified: 999999

Don’t know (Q39bDkno)
1 = Valid value

8 = Not applicable

9 = Unspecified

Accommodation (Q39cAcco)
1="Yes

2=No

8 = Not applicable

9 = Unspecified

Accommodation cost (Q39ccost)
Valid range: 000050 - 043500
Not Applicable: 888888
Unspecified: 999999

Don’t know (Q39cDkno)
1 = Valid value

8 = Not applicable

9 = Unspecified

Total cost for food and beverage (Q39dCost)
Valid range: 000000 - 008000

Not Applicable: 888888

Unspecified: 999999
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Food and beverage for breakfast (Q39dBrea)

1=Yes

2=No

8 = Not applicable
9 = Unspecified

Food and beverage for breakfast cost (Q39dBcos)

Valid range: 000000 - 001500
Not Applicable: 888888
Unspecified: 999999

Don’t know (Q39dBDkn)
1 = Valid value

8 = Not applicable

9 = Unspecified

Food and beverage for lunch (Q39dLunc)
1="Yes

2=No

8 = Not applicable

9 = Unspecified

Lunch cost (Q39dLcos)

Valid range: 000000 - 005000
Not Applicable: 888888
Unspecified: 999999

Don’t know (Q39dLDkn)
1 = Valid value

8 = Not applicable

9 = Unspecified

Food and beverage for Dinner (Q39dDinn)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Dinner cost (Q39dDcos)
Valid range: 000000 - 005000
Not Applicable: 888888
Unspecified: 999999

Don’t know (Q39dDDkn)
1 = Valid value

8 = Not applicable

9 = Unspecified

Leisure and entertainment (Q39eLeis)
1="Yes
2=No
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8 = Not applicable
9 = Unspecified

Leisure and entertainment cost (Q39eCost)

Valid range: 000000 - 006000
Not Applicable: 888888
Unspecified: 999999

Don’t know (Q39eDkno)
1 = Valid value

8 = Not applicable

9 = Unspecified

Medical expenses (Q39fMedE)
1="Yes

2=No

8 = Not applicable

9 = Unspecified

Medical expenses cost (Q39fCost)
Valid range: 000000 - 005000
Not Applicable: 888888
Unspecified: 999999

Don’t know (Q39fDkno)
1 = Valid value

8 = Not applicable

9 = Unspecified

Shopping (Q39gShop)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Shopping cost (Q39gCost)
Valid range: 000000 - 006000
Not Applicable: 888888
Unspecified: 999999

Don’t know (Q39gDkno)
1 =Valid value

8 = Not applicable

9 = Unspecified

Other (Q39hOthr)
1=Yes

2=No

8 = Not applicable
9 = Unspecified

Other costs (Q39hCost)
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Valid range: 000000 - 005400
Not Applicable: 888888
Unspecified: 999999

Don’t know (Q39hDkno) (@170 1)
1 = Valid value

8 = Not applicable

9 = Unspecified

Total trip cost (Q39iCost) (@171 6.)
Valid range: 000000 - 052000

Not Applicable: 888888

Unspecified: 999999

Don’t know (Q39iDkno) (@177 1)
1 = Valid value

8 = Not applicable

9 = Unspecified

3.10|How much did the members of | AMOUNT DON’T KNOW
the household SPENT/CONSUME/U
spend/consume/use on the SED

following, which was NOT in
the package,

During this last trip?

a. Airfare

b. Land transport

¢. Accommaodation

d. Food and beverages
0] Break fast

(i) Lunch
(i) Dinner
(iv) Other

e. Leisure and entertainment

e.g. payments to a botanical
garden, zoo etc

f. Medical expenses
g. Shopping

h. Other

i. Total

Add a —h to confirm |
Goto Q3.12

Note to users
It must be noted that this question still asks about the packaging trip, but it is requesting information about the items/products
that were not part of the package. It is instructed that all amounts from a — h should be added together to confirm i.
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Universe

This question is asked to all members of the household.

Final code lists

Airfare (Q310aAir)

Valid range: 000000 - 001000
Not Applicable: 888888
Unspecified: 999999

Don’t know (Q310aDkn)
Valid range: 1

Not Applicable: 8
Unspecified : 9

Land transport (Q310bLan)
Valid range: 000000 - 001500
Not Applicable : 888888
Unspecified : 999999

Don’t know (Q310bDkn)
Valid range: 1

Not Applicable: 8
Unspecified: 9

Accommodation (Q310cAcc)
Valid range: 000000 - 004500
Not Applicable : 888888
Unspecified : 999999

Don’t know (Q310cDkn)
Valid range: 1

Not Applicable : 8
Unspecified : 9

Food and beverages (Q310dfoo)
Valid range: 000000 - 007200
Not Applicable : 888888
Unspecified : 999999

Don’t know (Q310dDkn)
Valid range: 1

Not Applicable : 8
Unspecified :9

Food and beverages, breakfast (Q310dBre)
Valid range: 000000 - 000390

Not Applicable : 888888

Unspecified : 999999

Don’t know (Q310dBDK)
Valid range: 1

Not Applicable: 8
Unspecified: 9
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Food and beverages, lunch (Q310dLun)
Valid range: 000000 - 001500

Not Applicable: 888888

Unspecified: 999999

Don’t know (Q310dLDKk)
Valid range: 1

Not Applicable: 8
Unspecified: 9

Food and beverages, Dinner (Q310dDin)
Valid range: 000000 - 000800

Not Applicable: 888888

Unspecified: 999999

Don’t know (Q310dDDk)
Valid range: 1

Not Applicable = 8
Unspecified = 9

Food and beverages, Other (Q310dOth)
Valid range: 000000 — 000700

Not applicable: 888388

Unspecified: 999999

Don’t know (Q310dODKk)
Valid range: 1

Not Applicable: 8
Unspecified: 9

Leisure and entertainment (Q310eLei)
Valid range: 000000 - 002900

Not Applicable: 888888

Unspecified: 999999

Don’t know (Q310eDkn)
Valid value: 1

Not Applicable: 8
Unspecified: 9

Medical expenses (Q310fMed)
Valid range: 000000 - 002000
Not Applicable: 888888
Unspecified: 999999

Don’t know (Q310fDkn)
Valid value: 1

Not Applicable: 8
Unspecified: 9

Shopping (Q310gSho)
Valid range: 000000 - 010000
Not Applicable: 888888

(@213 6.)
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(@241 6.
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(@248 6.
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Unspecified: 999999

Don’t know (Q310gDkn)
Valid value: 1

Not Applicable: 8
Unspecified: 9

Other (Q310hOth)

Valid value: 000000 - 006700
Not Applicable: 888888
Unspecified: 999999

Don’t know (Q310hDkn)
Valid value: 1

Not Applicable: 8
Unspecified: 9

Total trip (Q310iTot)

Valid range: 000000 - 011500
Not Applicable: 838888
Unspecified: 999999

Don’t know (Q310iDkn)
Valid value: 1

Not Applicable: 8
Unspecified: 9

3.11|How much did the AMOUNT
members of the household |SPENT/CONSUM
spend/consume/use on the |E/USED
following during this last

DON’T
KNOW

trip?
a. Airfare

b. Land transport

¢. Accommodation

d. Food and beverages

(V) Break fast

(vi) Lunch
(vii)  Dinner
(viii)  Other

e. Leisure and entertainment

e.g. payments to a botanical
garden, zoo etc

f. Medical expenses

g. Shopping

h. Other
i. Total

Add a—hto confirmi
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Note to users

This question is asked to all the household members who answered “No” or “Don’t know” to Q3.7. It covers the last trip taken
by the members of the household and was not a package trip. The instruction to the enumerator is to is to add the entire
amount from a — h to confirm i.

Universe
This question is asked to all the household members who answered “No” or “Don’t know” to Q3.7.

Final code list

a) Airfare (Q311aAir) (@269 6.)
Valid range: 000000 - 300000

Not applicable: 888888

Unspecified: 999999

Don’t know (Q311aDkn) (@275 1))
Valid value: 1

Not applicable: 8

Unspecified: 9

b) Land transport (Q311bLan) (@276 6.)
Valid range: 000000 — 013000

Not applicable: 888888

Unspecified: 999999

Don’t know (Q311bDkn) (@282 1)
Valid value: 1

Not applicable: 8

Unspecified: 9

c¢) Accommodation (Q311cAcc) (@283 6.)
Valid range: 000000 — 400000

Not applicable: 888888

Unspecified: 999999

Don’t know (Q311cDkn) (@289 1))
Valid value: 1

Not applicable: 8

Unspecified: 9

d) Total costs for Food and beverages (Q311dfoo) (@290 6.)
Valid range: 000000 — 022000

Not applicable: 888888

Unspecified: 999999

Don’t know (Q311dDDk) (@29% 1.)
Valid value: 1

Not applicable: 8

Unspecified: 9
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d(i) Food and beverages — Breakfast (Q311dBre)

Valid range: 000000 — 006300
Not applicable: 883888
Unspecified: 999999

Don’t know (Q311dBdk)
Valid value: 1

Not applicable: 8
Unspecified: 9

ii) Food and beverages — Lunch (Q311dLun)
Valid range: 000000 — 005460

Not applicable: 888888

Unspecified: 999999

Don’t know (Q311dLdk)
Valid value: 1

Not applicable: 8
Unspecified: 9

iii) Food and beverages — Dinner (Q311dDin)
Valid range: 000000 — 005460

Not applicable: 888888

Unspecified: 999999

Don’t know (Q311dDkn)
Valid value: 1

Not applicable: 8
Unspecified: 9

iv) Food and beverages — Other (Q311dOth)
Valid range: 000000 — 004000

Not applicable: 888888

Unspecified: 999999

Don’t know (Q311dOdKk)
Valid value: 1

Not applicable: 8
Unspecified: 9

e) Leisure and entertainment (Q311eLei)
Valid range: 000000 — 010000

Not applicable: 888888

Unspecified: 999999

Don’t know (Q311eLdk)
Valid value: 1

Not applicable: 8
Unspecified: 9

f) Medical expenses (Q311fMed)
Valid range: 000000 — 015000
Not applicable: 888888
Unspecified: 999999
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Don’t know (Q311fMdk)
Valid value: 1

Not applicable: 8
Unspecified: 9

g) Shopping (Q311gSho)
Valid range: 000000 — 020000
Not applicable: 888388
Unspecified: 999999

Don’t know (Q311gSdk)
Valid value: 1

Not applicable: 8
Unspecified: 9

h) Other (Q311hOth)

Valid range: 000000 — 018000
Not applicable: 888888
Unspecified: 999999

Don’t know (Q311hOdk)
Valid value: 1

Not applicable: 8
Unspecified: 9

i) Total trip (Q311iTot)

Valid range: 000000 — 700000
Not applicable: 888388
Unspecified: 999999

Don’t know (Q311iTdk)
Valid value: 1

Not applicable: 8
Unspecified: 9

3.12 What type of accommodation
did the members of the
household use during the stay
on this last trip?

1 = Hotel

2 = Bed and breakfast
establishment.

3 = Guest House

4 = Lodge

5 = Self catering establishment

7 = Others (specify)

6 = Stayed with friends or family

Yes

No

If yes, number
of nights spent

Note to users
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This question is asked to all the members of household and the enumerator has to read out the question and make sure that
each category is asked. The purpose of this question is to determine what kind of accommodation the members of the
household, when taking trips mostly use. The respondent has to include the number of nights spent against the category.

Universe
This question is asked to all the household members who answered “No” or “Don’t know” to Q3.7.

Final code list

1) Hotel (Q3121Hot) (@360 1))
1=Yes

2=No

8 = Not applicable

9 = Unspecified

The number of nights spent — Hotel (Q3121NrN) (@361 3)
Valid range: 000 — 149

Not applicable: 888

Unspecified: 999

2) Bed and breakfast establishment (Q3122Bbe) (@364 1))
1="Yes

2=No

8 = Not applicable

9 = Unspecified

The number of nights spent — Bed and breakfast establishment (Q3122NrN) (@365 3.
Valid range: 000 — 021

Not applicable: 888

Unspecified: 999

3) Guest House (Q3123Gue) (@368 1.)
1="Yes

2=No

8 = Not applicable

9 = Unspecified

The number of nights spent — Guest House (Q3123NrN) (@369 3)
Valid range: 000 — 090

Not applicable: 888

Unspecified: 999

4) Lodge (Q3124Lod) (@372 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

The number of nights spent — Lodge (Q3124NrN) (@373 3)
Valid range: 000 — 030

Not applicable: 888

Unspecified: 999

5) Self catering establishment (Q3125Sel) (@376 1))
1=Yes
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2=No
8 = Not applicable
9 = Unspecified

The number of night’s spent — Self-catering establishment (Q3125NrN)
Valid range: 000 — 128

Not applicable: 888

Unspecified: 999

6) Stayed with friends or family (Q3126Fri)
1="Yes

2=No

8 = Not applicable

9 = Unspecified

The number of nights spent — stayed with friends or family (Q3126NrN)
Valid range: 000 — 270

Not applicable: 888

Unspecified: 999

7) Others (specify) (Q31270th)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

The number of nights spent — Other (Q3127NrN)
Valid range: 000 — 180

Not applicable: 888

Unspecified: 999

STRATUM (Stratum)

Derived variable: Derived from Type per Province
Valid range: 1 - 18

Values:

1. Western Cape — urban

2. Western Cape — non-urban
3. Eastern Cape — urban

4. Eastern Cape- non-urban

5. Northern Cape — urban

6. Northern Cape — non-urban
7. Free State — urban

8. Free State — non-urban

9. KwaZulu-Natal — urban

10. KwaZulu-Natal — non-urban
11. North West — urban

12. North West — non-urban

13. Gauteng — urban

14. Gauteng — non-urban

15. Mpumalanga — urban

16. Mpumalanga — non-urban
17. Limpopo — urban

81

(@377 3.)

(@380 1)

(@381 3.)

(@384 1)

(@385 3.

(@388 2.



18. Limpopo — non-urban

Primary Sampling Unit (PSU) (@390 7.)
Valid range: 1011001 - 9312247

Weight (tour_wgt) (@397 14.8)
This is the individual/person weight, identical to that in the PERSON file.
Valid range: 50 — 14479.5631398

DATA FILE: HOUSE
This file contains geographical location and household variables

Unique number (UgNTr) (@1 13)
Unique household identifier
Note: This is the unique household identifier, which can be used to link data from this

file with data for the same households from other files.

Province (Prov) (@14 1)
Derived variable: Derived from the 1* digit of the Unique Number.
Valid range: 1 -9

Values:

Western Cape

Eastern Cape

Northern Cape

Free State

KwaZulu-Natal

North West

Gauteng

Mpumalanga

Limpopo

©CoNOR~WNE

Characteristics of the household head (Gender) (@15 1)
C |lIs ... a male or a female?
1=MALE

2 =FEMALE

Note to users

This question is asked for each household member, to determine his or her gender. This question is only applicable if there is
a “Yes” in the previous question, which determines whether a person is a household member or not. The enumerators are
instructed not to assume the gender of the members of the households by just looking at people’s names.

Universe
Every person who normally resides in this household at least four nights a week.

Final code list

1 =Male
2 =Female
Population group (popgrp) (@16 1.

| E | What population group does ... belong to?
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1 = AFRICAN/BLACK
2 = COLOURED

3 = INDIAN/ASIAN
4 =WHITE
5 = OTHER, specify

Note to users

This question is asked to determine the population group of persons from the selected dwelling. The respondent must answer
for each member without any assumptions. In this instance the enumerator is also instructed not to make any conclusions,
which may be influenced by his observation or using people’s names during the interview.

Universe
Every person who normally resides in this household at least four nights a week.

Final code list
1 = African/Black

2 = Coloured

3 = Indian/Asian

4 = White

SECTION 4

4.1 | Indicate the type of main dwelling and other Main Other
dwelling that the household occupies? dwelling | dwelling
01 = DWELLING/HOUSE OR BRICK STRUCTURE ON A []o1 []o1
SEPARATE STAND OR YARD OR ON FARM
02 = TRADITIONAL DWELLING/HUT/STRUCTURE MADE |:| 02 |:| 02
OF TRADITIONAL MATERIALS
03 = FLAT OR APARTMENT IN A BLOCK OF FLATS []03 [ ]o3
04 = TOWN/CLUSTER/SEMI-DETACHED HOUSE [ ]o4 []o4
(Simplex, Duplex or Triplex)
05 = UNIT IN RETIREMENT VILLAGE [ ]05 []o5
06 = DWELLING/HOUSE/FLAT/ROOM IN BACKYARD [ ]o6 [ ]o6
07 = INFORMAL DWELLING/SHACK IN BACKYARD |:| 07 |:| 07
08 = INFORMAL DWELLING/SHACK NOT IN BACKYARD, |:| 08 |:| 08
E.G. IN AN INFORMAL/SQUATTER SETTLEMENT OR ON
FARM

09 = ROOM/FLATLET []09 []09
10 = CARAVAN/TENT []10 []10
11 = OTHER, specify 111 111

Note to users

This question is about the dwelling the household occupies. The interest is on the main house and also considers the other
dwelling if there is more than one structure that belongs to the household. The instruction to the enumerator is to make sure
the respondent understands the kind of information requested. For example the other dwelling cannot exist without the main
dwelling while the latter can without the former. For any other material used that is not specified in the given categories, there
is a provision for them on code 11, to complete the required information. There should be only one mark for each category.
Universe

This question is asked to the responsible adult in the household.
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Final code list

Main dwelling (Q41MainD) (@17 2)
01 = Dwelling / House or brick structure on a separate stand or yard or on farm

02 = Traditional dwelling / Hut / Structure made of traditional materials

03 = Flat or apartment in a block of flats

04 = Town / Cluster / Semi-detached house (Simplex, Duplex or Triplex)

05 = Unit in retirement village

06 = Dwelling /House /Flat / room in backyard

07 = Informal dwelling / Shack in backyard

08 = Informal dwelling / Shack not in backyard, e.g. in an informal/squatter settlement or on farm
09 = Room / Flatlet

10 = Caravan / Tent

11 = Other, specify

99 = Unspecified

Other dwelling (Q410thrD) (@19 2)
01 = Dwelling / House or brick structure on a separate stand or yard or on farm

02 = Traditional dwelling / Hut / Structure made of traditional materials

03 = Flat or apartment in a block of flats

04 = Town/Cluster /Semi-detached house (Simplex, Duplex or Triplex)

05 = Unit in retirement village

06 = Dwelling /House / Flat /room in backyard

07 = Informal dwelling / Shack in backyard

08 = Informal dwelling / Shack not in backyard, e.g. in an informal/squatter settlement or on farm
09 = Room / Flatlet

10 = Caravan / Tent

11 = Other, specify

99 = Unspecified

4.2 | Thinking back five years ago, what type of Main Other
dwelling/dwellings did this household occupy? dwelling dwelling
01 = DWELLING/HOUSE OR BRICK STRUCTURE ON A |:| 01 |:| 01
SEPARATE STAND OR YARD OR ON FARM
02 = TRADITIONAL DWELLING/HUT/STRUCTURE MADE OF []02 []o2
TRADITIONAL MATERIALS
03 = FLAT OR APARTMENT IN A BLOCK OF FLATS [ ]o3 []o3
04 = TOWN/CLUSTER/SEMI-DETACHED HOUSE []o4 [Jo4
(Simplex, Duplex or Triplex)
05 = UNIT IN RETIREMENT VILLAGE |:| 05 |:| 05
06 = DWELLING/HOUSE/FLAT/ROOM IN BACKYARD |:| 06 |:| 06
07 = INFORMAL DWELLING/SHACK IN BACKYARD |:| 07 |:| 07
08 = INFORMAL DWELLING/SHACK NOT IN BACKYARD, |:| 08 |:| 08
E.G. IN AN INFORMAL/SQUATTER SETTLEMENT OR ON
FARM
09 = ROOM/FLATLET
[ ]09 [ ]09
10 = CARAVAN/TENT
_ []10 []10
11 = OTHER, specify []11 11
12 = HOUSEHOLD DID NOT EXIST
(112 []12

Note to users
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This question is about the dwelling/s the household occupies in the past five years. The interest in on the main house the
household occupied. The other dwelling is also considered where households had more than one dwelling. The instruction to
the enumerator is to make sure the respondent understands the kind of information requested. For any other material used that
is not specified in the given categories, there is a provision for them on code 11, to complete the required information.
Moreover, for household that did not exist in specified period they have to mark code 12. There can only be one mark for each
of the category.

Universe
This question is asked to the responsible adult in the household.

Final code list

Main dwelling (Q42MainD) (@21 2)
01 = Dwelling / House or brick structure on a separate stand or yard or on farm

02 = Traditional dwelling / Hut / Structure made of traditional materials

03 = Flat or apartment in a block of flats

04 = Town / Cluster / Semi-detached house (Simplex, Duplex or Triplex)

05 = Unit in retirement village

06 = Dwelling /House / Flat / room in backyard

07 = Informal dwelling / Shack in backyard

08 = Informal dwelling / Shack not in backyard, e.g. in an informal / squatter settlement or on farm
09 = Room / Flatlet

10 = Caravan / Tent

11 = Other, specify

12 = Household did not exist

99 = Unspecified

Other dwelling (Q420thrD) (@23 2)
01 = Dwelling / House or brick structure on a separate stand or yard or on farm

02 = Traditional dwelling / Hut / Structure made of traditional materials

03 = Flat or apartment in a block of flats

04 = Town / Cluster / Semi-detached house (Simplex, Duplex or Triplex)

05 = Unit in retirement village

06 = Dwelling / House /Flat / room in backyard

07 = Informal dwelling / Shack in backyard

08 = Informal dwelling / Shack not in backyard, e.g. in an informal/squatter settlement or on farm
09 = Room / Flatlet

10 = Caravan / Tent

11 = Other, specify

12 = Household did not exist

99 = Unspecified
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4.3 | What is the main material used for the roof and

the walls of the main dwelling? Walls Roof

Mark one code in each column.
01 = BRICKS D 01 D 01
02 = CEMENT BLOCK/CONCRETE [102 []02
03 = CORRUGATED IRON/ZINC D 03 |:| 03
04 = WooD [104 | o4
05 =PLASTIC D 05 D 05
06 = CARDBOARD [ 106 [106
07 = MIXTURE OF MUD AND CEMENT D 07 |:| 07
08 = WATTLE AND DAUB D 08 |:| 08
09=TILE [ 109 []09
10 = MuD L110 | Q10
11 = THATCHING 111 []11
12 = ASBESTOS D 12 D 12
13 = OTHER, specify [113 [113
14 = NOT APPLICABLE D 14 D 14

Note to users

This question is about the main material used for the walls and roof of the main dwelling. The instruction to the enumerator is
to consider the main material used even in cases where more than one type is used. The very same situation applies to the roof
of the occupied dwelling. For any other material used that is not specified in the given categories, there is a provision on code
13, to complete the required information. There can only be one mark for each category.

Universe
This question is asked to the responsible adult in the household.

Final code list

Roof material (Q43Roof) (@25 2)
01 = Bricks

02 = Cement Block / concrete

03 = Corrugated iron / zinc

04 = Wood

05 = Plastic

06 = Cardboard

07 = Mixture of mud and cement
08 = Wattle and daub

09 =Tile

10 = Mud

11 = Thatching

12 = Asbestos

13 = Other, specify

99 = Unspecified

Walls material (Q43Walls) (@27 2)
01 = Bricks

02 = Cement Block / concrete

03 = Corrugated iron / zinc

04 = Wood

05 = Plastic

06 = Cardboard
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07 = Mixture of mud and cement
08 = Wattle and daub

09 =Tile

10 = Mud

11 = Thatching

12 = Asbestos

13 = Other, specify

99 = Unspecified

4.4 | In what condition are the roof and the walls Walls | Roof

of the

main dwelling? []1 []1
1 = Very weak (12 (12
2 = Weak [13 [13
3 = Needs minor repairs []4 [14
4 = Good [15 []5
5 =Very good

Note to users

This question is on condition of the main material used for the walls and roof of the main dwelling. The instruction to the
enumerator is to consider the condition of the main material used even in cases where more than one type is used. The very
same situation applies to the roof of the main dwelling. Mark only one code for each category.

Universe
This question is asked to the responsible adult in the household.

Final code list

Roof condition (Q44Ro0fC) (@29 1)
1 = Very weak
2 = Weak
3 = Needs minor repairs
4 = Good
5 = Very good
9 = Unspecified
Walls condition (Q44WallC) (@30 1)
1 =Very weak
2 = Weak
3 = Needs minor repairs
4 = Good
5 = Very good
9 = Unspecified
Total number of rooms (Q45Totrm) (@31 2)
4.5 | What is the total number of rooms in the dwelling(s) that the household
occupies?

Excluding toilets and bathrooms
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Note to users

The purpose of this question is to find out the number of rooms in the dwelling(s) that the household occupies. These rooms
should include living rooms, bedrooms and kitchens, but not bathrooms and toilets. The walls separating the rooms must be
permanent and made of hard material and not out of materials such as curtains etc.

Universe
This question is asked to the responsible adult in the household.

Valid value
Valid range: 0 — 60
Unspecified: 99

Ownership of dwelling (Q460wner) (@33 1)
4.6 | Isthe dwelling ....
1 = Owned and fully paid off —» GoTO0 4.12
2 = Owned, but not yet fully paid off _— GO TO 4.12
3 = Rented » GOoTO4.7
4 = Occupied rent-free as part of employment contract of
family member or yourself GoTo 4.8
5 = Occupied rent-free not as part of employment contract
of family member GoTo 4.8

Note to users

This question is applicable to all household based on whether they own property or are renting. For example are majority of
households owning, renting or occupying rent-free dwellings. This question tells us what sort of ownership and control the
household has over the assets; it also gives us the nature of ownership and extent of financial commitment in relation to
dwelling.

For any other reason not outlined in the given category the instruction to the enumerator is specify it in the space provided. If
there is an indication that the dwelling is owned and fully paid from Q4.5 then there is a skip instruction to go to Q4.10

Universe
This question is asked to the responsible adult in the household.

Final code list

1 = Owned and fully paid off

2 = Owned, but not yet fully paid off (e.g. with a mortgage)

3 = Rented

4 = Occupied rent-free as part of employment contract of family member

5 = Occupied rent-free not as part of employment contract of family member
9 = Unspecified

4.7 What is the amount of rent paid or value of rent (if rented free) for this
dwelling?

1.1 Amount paid by you excluding amount subsidized, or value of rent, if rented
free

1.2 Amount subsidized (e.g. by employer)
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1.3 Amount paid for garage and/or domestic worker's room if rented separately

1.4 Total rent paid, for this dwelling unit

2. Levy paid in the case of dwelling-units under sectional title or share-holding/
block scheme

3. Boarding — lodging paid

GO TO Q4.9

Note to users

This question follows from those respondents who falls under option 3 in Q4.6 that the dwelling unit. It must be noted that the
amount recorded in 1.1, 1.2 and 1.3 adds up to Q1.4 in this question. The instruction to the enumerator is to write all the
amounts including the total amount. After the questions have been answered, skip to Q4.9 at the bottoms should be noted.
Category 2.” Levy paid in the case of dwelling units under sectional title or share-holding/block scheme” was more related
to question 4.9 hence the variable for the mentioned category was removed from the dataset and question 4.9 was used
instead.

Universe
This question is asked to the responsible adult in the household who answered under option 3 in Q4.6.

Amount paid (Q4711Pai) (@34 5)
Valid range :00000 —-16000

Not applicable: 88888
Unspecified: 99999

Subsidy (Q471Subs) (@39 5.)

Valid range: 00000 - 04080
Not applicable: 88888
Unspecified: 99999

External room (Q471Extr) (@44 5.)
Valid range :00000 - 00600

Not applicable: 88888

Unspecified: 99999

Total rent paid (Q471TotR) (@49 5)

Valid range :00000 - 16000
Not applicable: 88888
Unspecified: 99999

Boarding — lodging paid (Q473Boar) (@54 5.)

Valid range: 00000 — 01500
Unspecified: 99999
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Monthly rent (Q48estre) (@59 5.)

4.8 |What is the value of monthly rent you would pay?

(for only those who answered option 4 or 5 in Q4.6)

Note to users

This question is being asked to those people who are occupying their dwelling(s) rent- free i.e. The question is only applicable
to the respondent who answered either option 4 or 5 in Q4.6. The respondent in this case, should estimate the amount of rent
they would pay for the dwelling.

Universe
This question is asked to the responsible adult in the household who answered under option 4 and 5 in Q4.6.

Valid values:

Valid value: 0 - 23600
Not applicable: 88888
Unspecified: 99999

Levy paid (Q49levyP) (@64 5)

4.9 [How much levy did you pay in the last month?

(in the case of dwelling-units under sectional title or shared-holding/block
scheme)

Note to users

This question is asked to the respondents who are for rented dwellings that are under sectional title or share-holding/block
scheme.

Universe
This question is asked to the responsible adult in the household

Valid value

Valid ranges: 00000 — 13090
Not applicable: 88888
Unspecified: 99999

4.10 [Does the rent include...?

1 = Electricity?

2 = Water?

3 = Garage/parking space?

4 = Refuse removal?

5=Levy

6 = Other, specify. ..........ccceeveveen.
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Note to users

This question is about the facilities that are included in the rent amount. This means that there should be a “Yes” or “No” for
each of the five categories.

Universe
This question is asked to the responsible adult in the household.

Electricity (Q410Elec) (@69 1))
Valid values:

1=Yes

2=No

8 = Not Applicable

9 = Unspecified

Water (Q410Wate) (@70 1)
Valid values:

1=Yes

2=No

8 = Not Applicable

9 = Unspecified

Garage/Parking space (Q410Gara) (@71 1)
Valid values:

1=Yes

2=No

8 = Not Applicable

9 = Unspecified

Refuse Removal (Q410Refu) (@72 1)
Valid values:

1=Yes

2=No

8 = No Applicable

9 = Unspecified

Levy (Q410Levy) (@73 1)
Valid values:

1=Yes

2=No

8 = No Applicable

9 = Unspecified

Other (Q4100the) (@74 1)
Valid values:

1="Yes

2=No

8 = No Applicable

9 = Unspecified
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Furniture (Q411Furn) (@75 1)
4.11 |Is this dwelling rented with or without furniture?

1 = UNFURNISHED

2 = SEMI-FURNISHED

3 = FURNISHED

Note to users
This question is about furniture. Whether the dwelling is rented with or without the furniture.

Universe
This question is asked to the responsible adult in the household.

Valid values:

1 = Unfurnished

2 = Semi-Furnished
3 = Furnished

8 = Not applicable
9 = Unspecified

4.12 PAYMENT ON DWELLING UNIT

(Including additional payments for immovable improvements) You can
ask for a copy of mortgage bond statement

4121 Monthly installment for the past month (including voluntary additional
monthly payment and subsidy/allowance, but excluding insurance)

a. Capital
b. Interest

Subsidy (Amount received from employer, or value of reduction in

3.12.2 installment if loan is repaid at a rate lower than the current interest rate)

4.12.3 Levy

Note to users
This question is about the monthly installments payments made on the dwelling unit for the past month, which is the total
payment toward the repayment of the mortgage or bond accounted in the past month. The enumerator is instructed to tell the
respondent to break the amount given into Capital and Interest.

e Capital — The repayment towards the principal amount owed.

e Interest - The finance charges incurred as a result of the mortgage or bond loan.
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Universe

This question is asked to the responsible adult in the household.

Final code list

Monthly installment for the past month - Capital payment (q4121Ins)

Valid range:

00000 - 25000

Not applicable: 88888
Unspecified: 99999

Capital payment (q4121cap)

Valid range:

00000 — 75000

Not applicable: 88888
Unspecified: 99999

Interest (q4121int)

Valid range:

00000 — 27500

Not applicable: 88888
Unspecified: 99999

Subsidy (q4122sub)

Valid range:

00000 — 05000

Not applicable: 88888
Unspecified: 99999

Levy (q4123Lev)

Valid range:

00000 - 02200

Not applicable: 88888
Unspecified: 99999

13

4.13.1

4.13.2

4.13.3

4.13.4

ADDITIONAL SINGLE AMOUNT PAID TO BANK/BUILDING

SOCIETY REGARDING MORTGAGE BOND (You can ask for a copy

of the loan statement)

Capital payments (including deposit)

Other payments such as transfers duty and transfer costs and
registration of mortgage bond

Contributions made towards communal provision of housing services,

such as water facilities and electricity supply (e.g. communal tap)

Payment for right to access a piece of land (tribal /shacks)

Note to users
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This question is asked to only the responsible adult in the household, and the enumerator has to record only the additional
lump sum. For example if a household should pay R1 000 per month toward the payment of the bond and actually pays extra
amount monthly and in addition to that paid an extra R5 000 as a lump sum, then the additional R5 000 must be shown in
Q4.13. It must be noted that this lump sum should have been paid sometimes in the past 12 months for it to be recorded.

Universe
This question is asked to the responsible adult in the household.

Capital payments (Q4131Cap) (@101 7))

Valid values: 0000000 — 400000
Not applicable: 8888888
Unspecified: 9999999

Other payments (Q41320th) (@108 7.)

Valid values: 0000000 — 0300000
Not applicable: 8888888
Unspecified: 9999999

Contributions (Q4133Con) (@115 7))

Valid values: 0000000 — 0016000
Not applicable: 8888888
Unspecified: 9999999

Right access payments (Q4134Rig) (@122 7))

Valid values: 0000000 — 0300000
Not applicable: 8888888
Unspecified: 9999999

Repairs (Q414Repa) (@129 1)

4.14 | Did the household do any repairs and

improvements to this dwelling-unit of which

payments were not included in the dwelling-unit

mortgage bond above in the past 12 months?
1=YES

2=No —» GotoQ4.16

Note to users

This question is about finding the information on whether there was any repair or any kind of improvements done to the
dwelling unit. The answer should be either a *“Yes” or “No”. It should be noted that the period mentioned is past 12 months.
The instruction is to skip to Q4.16 if the answer is “No”.

Universe
This question is asked to the responsible adult in the household.

Final code list
1=Yes

2=No

8 = Not applicable
9 = Unspecified
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4.15 | Amount paid on: COST FOR
THE PAST 12
MONTHS

a. Maintenance and repair of dwelling (existing
buildings, swimming pools, etc. Including paints,
wallpapers, etc.)

b. Services for maintenance and repair of dwelling
(plumbers, electricians, carpenters, etc.)

c. Improvements (Additions and alterations
including installation of security systems, build-in
furniture, solar energy systems, swimming pools and
garden lay-outs)

d. Services for improvements (carpenters,
electricians, etc.)

e. Security structures (including fences, electric
gates)

f. Security systems (including alarms, panic buttons)

0. Security Services (including reaction services and
neighbourhood watch)

h. Building materials not included in (a) or (c)
(e.g. for building houses)

Note to users

This question can be answered if the respondent has answered “Yes” to Q4.14. The question requires that the respondent give
information about (a) the cost of materials to do the repairs and/or maintenance, (b) payments towards the services of
maintaining and repairing the dwellings and other structures owned by the household, (c) cost of materials to do the
improvements to the dwellings, (d) payments made toward the service rendered for improvements, (e) the erection of security
structure such as fence and electronic gates, (f) the payments for the installation of security system such as alarms, panic
buttons, etc, (g) the payments for neighborhood watch and reaction services, (h) the materials that are bought and used by the
household for building purposes other than those mentioned above e.g. building a new house.

Universe
This question is asked to the responsible adult in the household.

Valid values:
(a) Maintenance and repair (Q415aMai) (@130 7.

Valid values: 0000000 —0300000
Not applicable: 8888888
Unspecified: 9999999

(b) Services for maintenance and repairs (Q415bSer) (@137 7))

Valid values: 0000000 — 0070000
Not applicable: 8888888
Unspecified: 9999999

(c) Improvements (Q415cImp) (@144 7))

Valid values: 0000000 — 0250000
Not applicable: 8888888
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Unspecified: 9999999

(d) Services for improvements (Q415dSer) (@151 7))

Valid values: 0000000 — 0200000
Not applicable: 8888888
Unspecified: 9999999

(e) Security for improvements (Q415eSec) (@158 7.)

Valid values: 0000000 — 0030000
Not applicable: 8888888
Unspecified: 9999999

(f) Security system (q415fSec) (@165 7.)

Valid values: 0000000 — 0010000
Not applicable: 8888888
Unspecified: 9999999

(9) Security services (g415gSec) (@172 7))

Valid values: 0000000 — 0006500
Not applicable: 8888888
Unspecified: 9999999

(h) Building material (Q415hBui) @179 7.)

Valid values: 0000000 — 0300000
Not applicable: 8888888
Unspecified: 9999999

Value per month (Q416Valu) (@186 5.)

4.16 |What is the value per month you could collect, if you
were to rent this dwelling out?

Note to users
This question is asked to the respondents who own their own dwellings. It allows the owner to estimate the value of rent they
would collect if they were to rent out their dwellings.

Universe

This question is asked to the responsible adult in the household who awns the dwelling.
Valid values: 00000 — 87000

Not applicable: 88888

Unspecified: 99999

AMOUNT DON’T
KNOW

4.17 |State the estimated reasonable market value for
which this property could be sold (Rands)
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Note to users
This question is asked to all the household members; the purpose of this question is to estimate the reasonable market value at
which the household property could be sold for.

Universe
This question is asked all members of the household.

Valid values:
Estimate the reasonable market value (Q417Mark) (@191 7))

Valid values: 0000000 — 7000000
Unspecified: 9999999

Don’t know (Q417dkno) (@198 1))

1 = Valid value
2 = Not applicable (hostels, renting a room inside the dwelling)
9 = Unspecified

House subsidy (Q418Hous) (@199 1)

4.18 | Did any member of this household receive a
government housing subsidy, such as RDP
housing subsidy, to obtain this dwelling or any
other dwelling?

Do not include housing subsidies for government
employees.

1=Yes
2=No
3 =Don’t know

Note to users

The question asks the respondents about any kind of housing government subsidy such as RDP housing subsidy but does not
include employee subsidies for government employees.

Universe
This question is asked all members of the household.

Valid values:
1=Yes
2=No

3 =Don’t know
9 = Unspecified
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Source of water (Q419Watr) (@200 2))
4.19 | What is the household’s main source of water?
Mark one code only
01 = PIPED (TAP) WATER IN DWELLING
02 = PIPED (TAP) WATER ON SITE OR IN YARD
03 = BOREHOLE ON SIT —>GotoQ4.21
04 = RAIN-WATER TANK ON SITE
05 = NEIGHBOUR’S TAP
06 = PuBLIC TAP
07 = WATER-CARRIER/TANKER
08 = BOREHOLE OFF SITE/COMMUNAL
09 = FLOWING WATER/STREAM/RIVER
10 = DAM/POOL/STAGNANT WATER
11 =WELL
12 = SPRING
13 = OTHER, specify

Note to users

This question is for the whole household and interested to determine the main source of water for households. It is through
questions of this nature where it would be indicated whether majority of households receive water inside their dwellings, on
their sites or on communal areas. It should be noted that if the people gets water from two sources they should name the
source that they use for drinking and food preparation. The neighbor’s tap at option “3” should be someone/household that is
very close to respondent’s dwelling units/structures. The instruction to the enumerator is for all the codes inside dwelling and
on site they must skip to Q 4.21.

Universe
All households in the selected dwelling.

Valid values:

01 = Piped (Tap) water in dwelling
02 = Piped (Tap) water on site or in yard
03 = Borehole on sit

04 = rain-water tank on site

05 = Neighbour’s tap

06 = Public tap

07 = Water-carrier/Tanker

08 = Borehole off site/communal
09 = Flowing water/Stream/River
10 = Dam/Pool/Stagnant water

11 = Well

12 = Spring

13 = Other, specify

99 = Unspecified
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Distance to water source (Q420Dist)

4.20 | How long does it take members of this household to
get to the water source?

1 =14 MIN OR LESS
2=15-29 MIN
3=30-44MIN
4=145-59 MIN

5 =60 MIN OR MORE

Note to users

(@202 1)

This question is only applicable to households where main source of water is not in the dwelling, yard or on site. The interest
in this question is on the distance taken by household to get water from the main source. The instruction to the enumerator is

to consider the time taken using the usual means of transport to this source.

Universe
Only households without water on site or in the dwelling.

Valid values:
1=0-14 min
2=15-29 min

3 =30 - 44 min

4 =45 -59 min

5 = 60 min or more
8 = Not applicable
9 = Unspecified

Water usage (Q421Watr)

household use per day ?
1=1 20 LITRE CONTAINER (1 - 20 LITRES)

4.21 | How many 20-litre buckets of water, on average, does the

2=2-3 20 LITRE CONTAINERS (21 — 60 LITRES)
3=4-5 20 LITRE CONTAINERS (61 — 100 LITRES)
4=6-7 20 LITRE CONTAINERS (101 — 140 LITRES)
5=8-9 20 LITRE CONTAINERS (141 — 200 LITRES)
6=11 20 LITRE CONTINERS OR MORE (200 + LITRES)

Note to users

(@203 1)

The purpose of this question is to find out the amount of water on average that can be used by a household per day. Only one

option should be selected.

Universe
All household members without water on site or in the dwelling.

Valid values:

1=1 20 litre container (1 — 20 litres)
2=2-3 20 litre containers (21 — 60 litres)
3=4-5 20 litre containers (61 — 100 litres)
4=6-7 20 litre containers (101 — 140 litres)
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5=8-9 20 litre containers (141 — 200 litres)
6=11 20 litre continers or more (200 + litres)
9 = Unspecified

Piped water (Q422Pipe) (@204 1)

4.22 | Does this household have access to piped water from a
local or regional water scheme?

1=YEs

2=No  GOTOQ431

Note to the users
The pipe water that the household has access to must be from a tap, either in dwelling, yard or communal. The instruction to
the enumerator is to skip to Q4.31 when the answer is “No”.

Universe
Only households with water on sides or in dwelling.

Final code list:
1=Yes
2=No
9 = Unspecified

Payment of water (Q423PayW) (@205 1))
4.23 | Does this household pay for water?
1=YES
2=No —>GO0T04.25

Note to the users

This question is asked to all the members of the household on whether the household does pay for water or not. Note should
be that for the answer to be “Yes”, the household has to actually pay for the water, and for people who receive water accounts
but do not pay then the answer would be “No”. The instruction to the enumerator is to skip to Q4.25 if the answer is “No”.

Universe
Only households with water on sides or in dwelling.

Valid values:
1=Yes
2=No

8 = Not applicable
9 = Unspecified
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Monthly payment (Q424Montt) (@206 2)

4.24 | How much does the household pay for water per
month?

1=R10 OR LESS

2=R11-R20

3=R21-R50

4 = R51 - R100

5=R101-R200

6 = R201 - R300

7 = R301+

8 = A fixed, unknown, cost for water included in the rent
9 =DON’T KNOW

—GO TO 4.26

Note to the users
It must be noted that only one option can be selected. If the amount for water is included in the other cost and/ or unknown,
then option 8 should be selected. After answering the question, the enumerator is instructed to skip to Q4.26.

Universe
Only households with water on sides or in dwelling.

Final code list

= R10 or less
=R11-R20
=R21-R50
=R51 - R100

= R101 - R200

= R201 - R300

= R301+

= A fixed, unknown, cost for water included in the rent
= DON’T KNOW
88 = Not applicable
99 = Unspecified

O©CoOo~No ok, wWNBE

4.25 | Why does the household not pay for water? Yes No
1 = Metering and billing system irregular (1102
2 = No metering and billing system in place at all (1102
3 = Meter broken [J10]2
4 = The cost of water is too high (1102
5 = Unhappy with the level of service provided 112
6 = The government should supply all water free (102
7 = Others do not pay for water [11[]2
8 =The household only uses the free basic amount (102
9 = Other [J11[]2
10 = Public tap (11072

Note to the users
This question is asked to the members of the household who don’t pay for water, people who answered “No” in Q4.23. The
enumerator has to read out all the options to the respondent and answers are noted with a “Yes” or “No”.
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Universe
This question is asked to the members of the household who don’t pay for water, people who answered “No” in Q4.23.

Final code list:

1. Metering and billing (Q4251Met) (@208 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

2. No metering and billing (Q4252Nom) (@209 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

3.Meter broken (Q4253Met) (@210 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

4.Cost too high (Q4254Cos) (@211 1)
1="Yes

2=No

8 = Not applicable

9 = Unspecified

5.Unhappy with service (Q4255Unh) (@212 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

6.Free water (Q4256Fre) (@213 1))
1=Yes

2=No

8 = Not applicable

9 = Unspecified

7. No water payment (Q4257Now) (@214 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

8.Free basic amount (Q4258Fre) (@215 1)

1=VYes
2=No
8 = Not applicable
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9 = Unspecified

9.0ther (Q42590th)
1=Yes

2=No

8 = Not applicable
9 = Unspecified

10.Public (Q42510PUV)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

Interruptions of piped water (Q426Inte)

4.26 | How often do you get interruptions in your piped
water supply?

1=DAILY

2 = WEEKLY

3=MONTHLY

4 =6 MONTHLY

5=YEARLY

6 = ALMOST NEVER — GotoQ4.28

Note to users

(@216 1)

(@217 1)

(@218 1)

This question is only applicable to households using piped water, regardless of whether it is in the dwelling or public. It is
through questions of this nature where we determine the reliability of the services rendered by the water suppliers. The

instruction to the enumerator is to skip to Q 4.28 for those with code 6.

Universe

All households with piped water regardless of whether it is in the dwelling or public.

Final code list

1 = Daily

2 = Weekly

3 = Monthly

4 = 6 monthly

5= Yearly

6 = Almost never
8 = Not applicable
9 = Unspecified
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Causes of interruption (Q427Rect) (@219 1)
4.27 | When is the problem usually rectified?
1 = THE SAME DAY

2 = DURING THE SAME WEEK

3 = DURING THE SAME MONTH

4 = LONGER THAN MONTH, SPECfy.......c..ccvvvriireiernrnn.

Note to users

This question is only applicable to households using piped water; the pipe water used is either in a dwelling or public. The
question refers to the rectification of the water interpretations mentioned above. It should be noted that this question can only
be answered by the respondents who answered options 1 — 5.

Universe
All households with piped water regardless of whether it is in the dwelling or public.

Final code list

1 = The same day

2 = During the same week

3 = During the same month

4 = Longer than month, specify...
8 = Not applicable

9 = Unspecified

Problem rectified (Q428Wate) (@220 1))
4.28 | Is there adequate water pressure?

1 = Most of the time
2 = Half of the time
3 = Never

Note to users
This question is only applicable to households using piped water and asks the household if they think they have enough
pressure or not. The enumerator has to read out all the options but select only one.

Universe
All households who had almost never encounter interruptions with piped water

Final code list

1 = Most of the time
2 = Half of the time
3 = Never

8 = Not applicable
9 = Unspecified

Main electricity supply (Q429Free) (@221 1)
4.29 | Does this household receive free water?
1=YES
2=No
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Note to users
This question is asked to all members of the household and it must be answered with either a “Yes” or “No”.

Universe
All households members.

Final code list
1=Yes

2=No

8 = Not applicable
9 = Unspecified

Water cut off (Q430Wate) (@222 1)

4.30 | Was water cut off for non-payment for this
household in the past month?

1=YES

2=No
Note to users
This question is asked to all members of the household and its purpose is to determine if the household had its water supply
cut off due to non-payment.

Universe
All household members.

Final code list
1=Yes

2=No

8 = Not applicable
9 = Unspecified

4.31 | Does this household use the water for Yes No
1 = Gardening (102
2 =Irrigation (food production) [J10]2
3 = Livestock watering [J10]2
4 = Swimming pool [11[]2
5 = Business or industries [11[]2
6 = Recreation (e.g. fish pond) (11012

Note to users
The enumerator has to read out all the options to the respondent and an answer should be noted with “Yes” or “No”.

Universe
All household members.

Final code list

1.Gardening (Q4311Gar) (@223 1))
1=Yes

2=No

9 = Unspecified
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2.Irrigation (Q4312Irr)

1=Yes
2=No

9 = Unspecified

3.Livestock (Q4313Liv)

1=Yes
2=No

9 = Unspecified

4.Swimming (Q4314Swi)

1=Yes
2=No

9 = Unspecified

5.Business (Q4315Bus)

1=Yes
2=No

9 = Unspecified

6.Recreation (Q4316Rec)

1=Yes
2=No

9 = Unspecified

Treat water for drinking (Q432Trea)

4.32

Do household members treat the water used for
drinking?

1=YES, ALWAYS

2 = YES, SOMETIMES

3 =NO, NEVER

Note to users
This question is asked to all members of the household on whether they do treat water used for drinking, and an example of
treating water is boiling it, using chemicals e.g. bleach, filtering, etc. It must be noted that this question only asks about the
water that is only meant for drinking.

Universe
All household members.

Final code list

1=Yes,
2=Yes,

always
sometimes

3 = No, never
9 = Unspecified

Treat water for food (Q433Trea)

4.33

Do household members treat the water used for
food preparation?

1=YES, ALWAYS
2 = YES, SOMETIMES
3 =NO, NEVER
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Note to users

This question is asked to all members of the household on whether they do treat water used for food preparation, and an
example of treating water is boiling it, using chemicals e.g. bleach, filtering, etc. It must be noted that this question only asks

about the water that is only meant for preparing food.

Universe
All household members.

Final code list

1 =Yes, always

2 = Yes, sometimes
3 = No, never

9 = Unspecified

4.34 | Which method do household members | prinking
use to treat the water?

1 = Boiling (11
2 = Filtering []2
3 = Chemical (bleach, chlorine) [13
4 = Other, specify... [14
5 = Do not treat water for... []s

Food
preparation

[]1
[]2
13
(14
15

Note to users

This question is asked to all members of the household on which method of treating water do they use. The enumerator has to
make sure that only one method of treatment of water should be selected, if more than one method is being used, the selected

method should be the one that is mostly used.

Universe
All households members.

Final code list

Drinking (Q434Drin)

1 = Boiling

2 = Filtering

3 = Chemical (bleach, chlorine)
4 = Other, specify...

5 = Do not treat water for...

8 = Not applicable

9 = Unspecified

Food (Q434Food)

1 = Boiling

2 = Filtering

3 = Chemical (bleach, chlorine)
4 = Other, specify...

5 = Do not treat water for...

8 = Not applicable

9 = Unspecified

Bottled water (Q435Bott)
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4.35 | During the past 12 months did you or any
member of the household used bottled water at
home because you thought the water quality was
poor?

1=YES
2=No
3 =DON’T KNOW

Note to users

This question is asked to all members of the household on whether they have ever bought bottle water and used it at home, the
bottle water in this case is refereed to the water bought form retailers i.e. mineral water, spring water etc.

Universe

All households members who answered option 3 in Q4.32 and Q4.33.

Final code list
1=Yes

2=No

3 = Don’t know
9 = Unspecified

Toilet facility (Q436Typt) (@234 2)
4.36 | What type of toilet facility is
available for this household? Mark | In _ _
on|y one, the main toilet dwelllng Onsite  Off site
1 = FLUSH TOILET CONNECTED TO [J11 [J12 []13
A PUBLIC SEWAGE SYSTEM
2 = FLUSH TOILET CONNECTED TO A
SEPTIC TANK D 21 D 22 D 23
3 = CHEMICAL TOILET
_ []32 []33
4 = PIT LATRINE WITH VENTILATION
PIPE |:| 42 |:| 43
5 =PIT LATRINE WITHOUT
VENTILATION PIPE []52 []53
6 = BUCKET TOILET
7=NONE — GotoQ4.39 [ 162 []63
B O

Note to users

This question is for all households and interested in the type of toilet facility available for selected dwelling units. The
instruction to the enumerator is ask for the main toilet used by the household even if there is more than one in the selected
dwelling. For households without any toilet facility they have to skip to Q 4.39.

Universe
All household members.

Final code list

Valid range: 11 - 73
Unspecified: 99
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Distance to nearest toilet (Q437Dist) (@236 1))

4.37 | How far is the nearest toilet facility to which the
household
has access?

1=LESS THAN 2 MINUTES (LESS THAN 200Mm) []1

2 =2 MINUTES BUT LESS THAN 5 MINUTES (200M - 500Mm) []2

3 = MORE THAN 5 MINUTES (MORE THAN 500M) (13
—Go to Q4.39

Note to users

This question is only applicable if toilet is on site or off site otherwise there should be a skip to Q 4.39. The interest in this
guestion is on the distance traveled by the members of the household to the nearest toilet facility. The enumerators are
instructed to be cautious about “ the nearest toilet facility”, especially for those households with more than one toilet. After
answering this question the instruction to the enumerator is to skip to Q4.39.

Universe
All households with toilet facility in the dwelling.

Final code list

1 = Less than 2 minutes (less than 200m)

2 =2 minutes but less than 5 minutes (200m - 500m)
3 = More than 5 minutes (more than 500m)

8 = Not applicable

9 = Unspecified

Bucket removal (Q438RemB) (@237 1)

4.38 | How frequently is it removed?

1 = ONCE A WEEK OR MORE OFTEN D

2 = ABOUT ONCE A FORTNIGHT D 2
[]
[]

3 = ABOUT ONCE A MONTH
4 = Less often than once a month

Note to users
This question is only applicable to households that are using “Bucket Toilet”; otherwise there should be a skip to Q 4.39.
This is going to give an indication as to how many households are still using the bucket toilet.

Universe
All households using bucket toilets.

Final code list

1 = Once a week or more often

2 = About once a fortnight

3 = About once a month

4 = Less often than once a month
8 = Not applicable

9 = Unspecified
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Main electricity (Q439Main) (@238 1))

4.39 | Does this household have a connection to the
MAINS electricity supply?

1=YEs
2=NO — GO TO Q4.42

Note to users

This question is applied to all the members of the household and the main electricity refers to cases whereby electricity is
supplied by companies like ESKOM and other local ones such as Lebowa in the Limpopo Province. This means that the
electricity from a generator and other devices are not part of the main supply. The purpose of this question is to find out how
many households have access/connection to the mains electricity supply. The reason being other households, much as they
have access to it may not be using it as the main source of energy.

Universe
All household members.

Final code list
1=Yes

2=No

9 = Unspecified

Free electricity (Q440Free) (@239 1)
4.40 | Does this household receive free electricity?
1=YES

2=NO

Note to users

The question is being asked to all members of the household, and the purpose of this question is to find out the number of
household who receives free electricity. The enumerator must make sure that the respondent answers the question with a
,’YeS" Or “NO"'

Universe
All household members.

Final code list
1=Yes

2=No

8 = Not applicable
9 = Unspecified

Electricity cut off (Q441Elec) (@240 1)

4.41 | Was electricity cut off non-payment for this
household in the past month?

1=YES
2=NO

Note to users
The purpose of this question is to determine if the household had its electricity supply cut off due to non-payments. The
guestion should be answered with a “Yes” or “No”.
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Universe
All household members.

Final code list
1=Yes

2=No

8 = Not applicable
9 = Unspecified

[]o1
[ ]02
[ ]03
[ ]o4
[ ]05
[ ]06
[ ]o7
[ ]os
[ ]09
[ ]10
[[]11

4.42 | What is the main source of Cooking | Heating
energy/fuel for this household?
01 = ELECTRICITY FROM MAINS D 01
02 = ELECTRICITY FROM GENERATOR D 02
03 =GAS []o3
04 = PARAFFIN |:| 04
05 = WooD [ ]05
06 = COAL [ 106
07 = CANDLES e
08 = ANIMAL DUNG []o8
09 = SOLAR ENERGY |:| 09
10 = OTHER, specify |:| 10
11 = NONE |:| 11

Lighting

[]o1
[ ]02
[]03
[ ]o4

L
[]07
[ ]

[ ]09
[ ]10
[]11

Note to users

This question is applicable to all households and has to identify the source of energy they use for cooking, heating and
lighting. The instruction to the enumerator is to ask for the main source used for the above mentioned even if more than one
source is used. For any other source that is not outlined in the given categories there is provision to specify it.

Universe
All households in the selected dwellings.

Final code list

Energy for cooking (Q442Cook)
01 = Electricity from mains

02 = Electricity from generator

03 =Gas

04 = Paraffin
05 =Wood
06 = Coal

08 = Animal dung
09 = Solar energy

10 = Other, specify
11 =None

99 = Unspecified

Energy for heating (Q443Heat)

01 = Electricity from mains
02 = Electricity from generator
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03 =Gas

04 = Paraffin

05 = Wood

06 = Coal

07 = Candles

08 = Animal dung
09 = Solar energy

10 = Other, specify
11 = None
99 = Unspecified

Energy for light (Q444ligh)
01 = Electricity from mains
02 = Electricity from generator

03 =Gas
04 = Paraffin
07 = Candles

09 = Solar energy
10 = Other, specify
11 = None

99 = Unspecified

Supply of main electricity in the past (Q443Elec)

supply, then?
1=YES
2=No
3 = HOUSEHOLD DID NOT EXIST
4 = DON’T KNOW

4.43 | Thinking back five years ago, did this household
have a connection to the MAINS electricity

Note to users

(@245 2)

(@247 1)

This question seeks to establish if the household had main electricity five years ago. The purpose of this question is to find out
whether the number of household that had access to the MAIN electricity supply has remained the same, improved or
deteriorated since five years ago. The instruction to the enumerator is to make sure the respondent understands the kind of
information requested. For household that did not exist in specified period they have to mark code 3 on this question.

Universe
All households in selected dwellings.

Final code list

1 =Yes

2 =No

3 = Household did not exist
4 =Don’t know

9 = Unspecified
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Rubbish removal (Q444Rubb) (@248 1))

4.44 | How is the refuse or rubbish of this household taken care
of?

1 = REMOVED BY LOCAL AUTHORITY AT LEAST ONCE A WEEK []1

2 = REMOVED BY LOCAL AUTHORITY LESS OFTEN THAN ONCE A []2
WEEK

3 = REMOVED BY COMMUNITY MEMBERS AT LEAST ONCE A WEEK 13

4 = REMOVED BY COMMUNITY MEMBERS LESS OFTEN THAN ONCE []4
A WEEK

5 = COMMUNAL REFUSE DUMP/COMMUNAL CONTAINER 5

6 = OWN REFUSE DUMP 6

7 = NO RUBBISH REMOVAL []7

8 = OTHER, SPeCify .......ccoevvviiinnnn.nn 18

Note to users

This question is applicable to all households and interested in how refuse or rubbish is taken care off. Even if more than one
type is used to take care of refuse/rubbish the instruction to the enumerator is to consider the one that offers better service. If
the local authority or community members are responsible for removing the refuse or rubbish, then the enumerator must ask
the respondent on “how frequently are the refuse or rubbish removed”.

Universe
All households in the selected dwelling units.

Final code list

= Removed by local authority at least once a week.

= Removed by local authority less often than once a week.

= Removed by community members at least once a week.

= Removed by community members less often than once a week.
= Communal refuse dump/Communal container.

= Own refuse dump.

= No rubbish removal.

= Other, specify........

9 = Unspecified

CONOOT A~ WN PR

Pay refuse service (g445payr) (@249 1)

4.45 | Would this household be willing to pay rates for a
refuse service?

1=YES

2=No

3 = ALREADY PAYING

4 =DON’T KNOW

Note to users

This question is being asked to the respondent having their own (communal, own) or no refuse dump and as a result and as a
result do not pay for the rates for refused services. The purpose of this question is to establish as to whether the household
members that do not have their refuse or rubbish being removed by the local authorities, would be willing to pay if this
services could be offered at a fee in their areas. The instruction is that this question should be answered if Q4.44 is 3, 4, 5, 6,
7, or 8 otherwise skip to Q4.46.

Universe
To all household members who have answered to Q4.44 is 3, 4,5, 6, 7, or 8.
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Final code list
1=Yes

2=No

3 = Already paying
4 = Don’t know

8 = Not applicable
9 = Unspecified

Own car (Q4460wnC) (@250 1.
4.46 | Does this household have a car?

1=YES

2=No

Note to users
The enumerator has to explain to the respondent that even if they do not a car but have access to it e.g. business car, the
answer will still have to be “Yes”. The car has to be in a working condition.

Universe
To all household members.

Final code list
1=Yes

2=No

9 = Unspecified

Not using your own car (Q447Notu) (@251 1)

4.47 | In the past 12 months have you or any member of your
household deliberately used public transport, walked or
cycled instead of using a car?

1=YES

2=No

Note to users
This question is asked to those household members that have a car or available access to a car and in working condition, but
instead the house opted for public transport.

Universe
To all household members who have car or access to a car.

Final code list
1=Yes

2=No

8 = Not applicable
9 = Unspecified
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Avoid using pesticides (Q448Pest) (@252 1)

4.48 | In the past 12 months have you or any member of your
household avoided using pesticides in the garden?
1=YEs
2=No
3 =NO GARDEN

Note to users
This question is been asked to all the household members and the pesticides refers to the chemicals that is used to get rid of
pests e.g. insects in the garden.

Universe
To all household members.

Final code list

1="Yes
2=No
3 = No garden

9 = Unspecified

Noise (Q449Nois) (@253 1))

4.49 | In the past 12 months have you or any member of your
household shut windows or kept them closed because of
noise from outside?

1=YES

2=No

Note to users
The purpose of this question is to find out about the environment that the households stay in, if it’s a noisy environment or
not. The question has to be answered with “yes” or “no.

Universe
To all household members.

Final code list:
1=Yes
2=No
9 = Unspecified

4.50 | In the past 12 months have you or any member of your
household separated...

(a)Paper from rubbish so that it could be collected?
(b)Plastic from rubbish so that it could be collected?

Note to users
The enumerator has to read out all the options to the respondent and an answer should be noted with either a “Yes” or “No”.

Universe
To all household members.
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Valid values:

(a) Paper from rubbish so that it could be collected? (Q450Pape) (@254 1)
1=Yes

2=No

9 = Unspecified

(b) Plastic from rubbish so that it could be collected? (Q450Plas) (@255 1)
1="Yes

2=No

9 = Unspecified

451 | During the past 12 months have you or any

member of your household... YES NO
[11[]2

a) Facilitate recycling of glass [1[]2

b) Taken cans to collect-a-can recycling point for

recycling 102

c) Taken paper to a paper-bank for recycling (102

d) Taken plastic to a recycling facility for recycling [11[]2

e) Made compost out of kitchen waste

Note to users
The enumerator has to read out all the options to the respondent and an answer should be noted with either a “Yes” or “No”.

Universe
To all household members.

Final code list:

a) Facilitate recycling of glass (Q451aRec) (@256 1.
1=Yes

2=No

9 = Unspecified

(b) Taken cans to collect-a-can recycling point for recycling (Q451Bcol) (@257 1))
1=Yes

2=No

9 = Unspecified

(c) Taken paper to a paper-bank for recycling (Q451Cpap) (@258 1))
1=Yes

2=No

9 = Unspecified

(d)Taken plastic to a recycling facility for recycling (Q451Dpla) (@259 1)

1=Yes
2=No
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9 = Unspecified

e) Made compost out of kitchen waste (Q451EKkit) (@260 1.

1=Yes
2=No

9 = Unspecified

4,52

During the past 12 months have you or any

member of your household ... YES NO
a) Cut down on the amount of water use? 1072
b) Cut down on the use electricity/gas? 1112

¢) Make sure that your noise do not disturb others [(J1[]2

Note to users
The enumerator has to read out all the options to the respondent and an answer should be noted with either a “Yes” or “No”.

Universe
To all household members.

Final code list
a) Cut down on the amount of water use?( Q452Awat) (@261 1)

1=Yes
2=No

9 = Unspecified

(b) Cut down on the use electricity/gas? (Q452Bele) (@262 1.

1=Yes
2=No

9 = Unspecified

(c) Make sure that your noise do not disturb others (Q452Cdis) (@263 1)

1=Yes
2=No

9 = Unspecified

4.53

Which of the following environmental problems do you
experience in your community?

YES NO

a) Waste removal / littering [J1[]2

b) Water pollution [J1[]2
112
[J1[]2

c¢) Outdoor/indoor air pollution

d) Land degradation / over utilisation of natural resources (e.g.
soil erosion, potholes and dongas, overgrazing, cutting of trees
for firewood)

e) Other, specify L1112
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Note to users

The enumerator has to read out all the options to the respondent and an answer should be noted with either a “Yes” or “No”.
This question serves as an important measure to establish which environmental problems households experience in their
community. All the categories should be answered with either a “Yes” or “No”.

Universe
All households in the selected dwellings.

Final code list

a) Waste removal / littering (q453Alit) (@264 1))
1=Yes
2=No
9 = Unspecified

b) Water pollution (q453Bwat) (@265 1))
1=Yes
2=No
9 = Unspecified

c) Outdoor/indoor air pollution (q453Cair) (@266 1))
1=Yes
2=No
9 = Unspecified

d) Land degradation (g453Dlan) (@267 1))
1="Yes
2=No
9 = Unspecified

e) Other, specify (q453Eoth) (@268 1))
1=Yes
2=No
9 = Unspecified

4.54 | Are you aware of the following initiatives in South YEs No
Africa

a) Collect a can (aluminium cans containing [J110]2
beverages/cool drinks for cash)

b) Green cage (cages provided for plastic bag (11072
deposits)

c) Rose foundation (automotive oil collected for | L1112
cash)

d) War on Waste (paper collection for cash) (112
e) Waste-wise Campaign to eliminate litter in the []1[]2

community) (1012
f)  Work for water (clearing of alien vegetation)

Note to users
With this question we would measure the awareness of South African households regarding recycling and waste management.
The respondent is expected to answer all the categories with either “Yes” or “No”.
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Universe
All households in the selected dwellings.

Final code list:

a) Collect a can (Q454ACol) (@269 1))
1=Yes

2=No

9 = Unspecified

b) Green cage (Q454BGre) (@270 1))
1=Yes

2=No

9 = Unspecified

c) Rose foundation (Q454CRos) (@271 1)
1=Yes

2=No

9 = Unspecified

d) War on waste (Q454DWar) (@272 1)
1=Yes

2=No

9 = Unspecified

e) Waste-wise Campaign (Q454EWas) (@273 1))
1=Yes

2=No

9 = Unspecified

f) Work for water (Q454FWor) (@274 1)
1=Yes

2=No

9 = Unspecified

Landline telephone (Q455Tele) (@275 1))
4.55 | Does this household have a functional/working
landline telephone in the dwelling?
1=YEs []1
2=No []2

Note to users

This question is about communication used by households in the selected dwellings. The interest is to determine how many
households have landline telephones in their dwellings. The instruction to the enumerator is to ensure that the landline is in a
working condition otherwise the household is considered not to have a telephone.

Universe
All households in selected dwellings.

Final code list:
1=Yes
2=No
9 = Unspecified
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Cellular telephone (Q456Cell) (@276 1))

4.56 | Is there a cellular telephone available to this household
for regular use?
1=YEs []1
2=No (]2
Note to users
This question is about communication used by households in the selected dwellings. The interest is to determine how many
households have access to cellular phones. The instruction to the enumerator is to ensure that the cellular is in a working
condition otherwise it is not considered.

Universe
All households with cellular phones.

Final code list
1=Yes

2=No

9 = Unspecified

Distance to telephone (Q457Dist) (@277 1)

4.57 | How far does it take from here, to the nearest
accessible telephone, using your usual means of

transport? []1
1 =14 MIN OR LESS []2
2=15-29 MIN []3
3=30-44MIN []4
4 =45-59 MIN []5

5 =60 MIN OR MORE

Note to users

This is only applicable to households that answered “No” both to (Q 4.55 and Q 4.56), otherwise there should be a skip to Q
4.58. The interest in this question is on the time taken by households to the nearest telephone they use. The instruction to the
enumerator is to be cautious about “the nearest accessible telephone” especially in cases where more than one of these
facilities are used.

Universe
All households without landline telephone and cellular phones.

Final code list:

14 min or less
15-29 min
30 — 44 min
45 — 59 min
60 min or more
= Not applicable
= Unspecified

1
2
3
4
5
8
9
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Use of telephone in the past (Q458Tele) (@278 1))

4.58 | Thinking back five years ago, did this household have
a functional/working landline telephone in the

dwelling then? []1
1=Yes []2
2=No []3
3 = Household did not exist 14

4 = Don’t know

Note to users

The purpose of this question is to determine whether the number of household having landline telephone has remained the
same, improved or deteriorated over the last period of five years. If the household did not exist five years ago then the answer
should be category 3.

Universe
All households in selected dwellings.

Final code list:

1=Yes

2=No

3 = Household did not exist
4 = Don’t know

9 = Unspecified

Mail/post (Q459Mail) (@279 2)

4.59 | How does this household receive most of its mail/post?
1 = DELIVERED TO THE DWELLING []1
2 = DELIVERED TO A POST BOX/PRIVATE BAG []2
3 = THROUGH FRIEND OR NEIGHBOUR [13
4 = THROUGH SHOP [14
5 = THROUGH SCHOOL 15
6 = THROUGH WORKPLACE L6
7 = THROUGH A TRIBAL/LOCAL AUTHORITY OFFICE 5 ;
8=DoNoT RECI-EIVE MAIL o
9 = OTHER, SPECify......cccvvviiiiiiiinnn

Note to users

This question is applicable to all households regarding their mail/post services rendered. The instruction to the enumerator is
to consider the category that is mostly applicable to the households especially in cases where more that one category applies.
For any other category that is not applicable in the given category, there is provision to specify it.

Universe
All households in the selected dwellings

Final code list

1 = Delivered to the dwelling

2 = Delivered to a post box/private bag
3 = Through friend or neighbour

4 = Through shop

5 = Through school

6 = Through workplace
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7 = Through a tribal/local authority office
8 = Do not receive mail

9 = Other, specify......................

99 = Unspecified

4.60 | What means of transport are usually, or would usually be used by members of
this household to get to the nearest of each of these facilities?
If more than one means of transport, take the one used over the longest distance
Facility WALKININiNiBus— [Bus TRAIN  |OWN OTHER,
G TAXI (PUBLIC) TRANS-  |specify
PORT below
a Food market 11 2 (13 |4 | Os [16
b Public transport 11| 2 (13 | 4| [Os (16
c Pre-Primary/Pre-school [11 [12 []3 (14| 5 [16
centre
d Primary school (11| D2 (13 |4 | 5 [16
e Secondary school L1 L2 s [1a] Os L6
f Clinic Ue ) Dz sy Da s Ls
g Hospital gl gz g?’ 54 gs 56
1 2 3 4 5 6
h Post office or post office
agent
1 2 3 4 5 6
| Welfare office U U U U U U

Note to users

This question is been asked to all the household members and the enumerator has to make it clear to the respondent that if
more than one means of transport is, or would be used then take the one used over the longest distance. If the household does
not use a particular facility then the enumerator has to ask what the household member would use to get there. It must be
noted that the question is asking about the nearest facility and not necessarily the one that the household is or maybe using.
The instruction of option “Others” in Q4.60 should be noted.

Universe
All households in the selected dwellings

Final code list

a) Food market (Q460Food) (@281 1)
1 =0On foot

2 = Taxi

3 =Bus (Public)

4 =Train

5 = Own transport
6 = Other specify below
9 = Unspecified

b) Public transport (Q460Tran) (@282 1))
1 =On foot

2 =Taxi

3 =Bus (Public)

4 =Train
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5 = Own transport
6 = Other specify below
9 = Unspecified

c) Pre-primary/Pre-school centre (Q460PreS)
1 =On foot

2 =Taxi
3 =Bus (Public)
4 =Train

5 = Own transport
6 = Other specify below
9 = Unspecified

d) Primary school (Q460Prim)

1 =On foot

2 =Taxi

3 =Bus (Public)
4 =Train

5 = Own transport
6 = Other specify below
9 = Unspecified

e) Secondary school (Q460SecS)

1 =On foot

2 =Taxi

3 =Bus (Public)
4 =Train

5 = Own transport
6 = Other specify below
9 = Unspecified

On foot

Taxi

3 =Bus (Public)

4 =Train

5 = Own transport

6 = Other specify below
9 = Unspecified

f) Clinic (Q460Clin)
1 =
2 =

g) Hospital (Q460Hosp)

1 =On foot

2 =Taxi

3 =Bus (Public)
4 =Train

5 = Own transport
6 = Other specify below
9 = Unspecified

h) Post office/Post office agent (Q460Post)
1 =On foot

2 =Taxi
3 =Bus (Public)
4 =Train
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5 = Own transport
6 = Other specify below
9 = Unspecified

i) Welfare office (Q460Welf) (@289 1))
1 =On foot

2 =Taxi

3 =Bus (Public)

4 =Train

5 = Own transport
6 = Other specify below
9 = Unspecified

4.61 |How long in minutes does it take or would it take, from here to reach the
nearest ......... using the usual means of transport?
Facility 14 15-29 |30-44 [45-59 |60 MIN |DON’T
MIN  [MIN MIN MIN |OR KNOW
OR MORE
LESS
a Food market (11| Od2 | O3 | 4| 5 | L6
b Public transport 1| O2 | O3 |4 | s | Oe
c Pre-Primary/Pre-school | [J1 | LJ2 | O3 | T4 | 5 | L6
centre
d Primary school O O2 | Os | Oa | OIs (e
e Secondary school L1 02 | Os |4 | Os | Ls
f Clinic Uvp U2y Ds Dy Us Ll
g Hospital gl gz gg 54 gs 56
1 2 3 4 5 6
h Post office or post office
agent
S O:| O2 | O3 | 04| Os | Os
i Welfare office

Note to users

This question is applicable to all households regarding time taken using the usual means of transport to various facilities. The
instruction to the enumerator is ask for time taken to the nearest facility using the usual means of transport even in cases
where more than one means of transport is used, and in this case total time should be given. All the given categories must be
asked to indicate the time usually taken using the usual means of transport to access them.

Universe
All households in the selected dwellings.

Final code list

a) Food market (Q461Food) (@290 1))
1=0-14
2 =15-29
3= 30-44
4= 45-59

5 = 60 minutes or more
6 = Don’t know
9 = Unspecified
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b) Public transport (Q461Tran)
1=0-14

2 =15-29

3=30-44

4 =45-59

5 = 60 minutes or more

6 = Don’t know

9 = Unspecified

1=0-14

2 =15-29

3=230-44

4 = 45-59

5 = 60 minutes or more
6 = Don’t know

9 = Unspecified

0-14

15- 29

3=230-44

4 =45-59

5 = 60 minutes or more
6 = Don’t know

9 = Unspecified

d) Primary school (Q461Prim)
1 =
2 =

e) Secondary school (Q461SecS)
1=0-14

2 =15-29

3=30-44

4 = 45- 59

5 = 60 minutes or more

6 = Don’t know

9 = Unspecified

f) Clinic (Q461Clin)
1=0-14

2 =15-29

3=230-44

4 = 45-59

5 = 60 minutes or more
6 = Don’t know

9 = Unspecified

4 =45-59

5 = 60 minutes or more
6 = Don’t know

9 = Unspecified

¢) Pre-primary/Pre-school centre (Q461PreS)
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h) Post office/Post office agent (Q461Post)
1=0-14

2 =15-29

3=30-44

4 = 45- 59

5 = 60 minutes or more

6 = Don’t know

9 = Unspecified

i) Welfare office (Q461Welf)
1=0-14

2 =15-29

3=230-44

4 = 45-59

5 = 60 minutes or more

6 = Don’t know

9 = Unspecified

Access to land (Q462Agri)

be, used for agricultural purposes?
1=Yes (exclude communal grazing land)
2=No —>GotoQ 4.66

4.62 | Does this household have access to land that is, or could

[]1
[]2

Note to users

(@297 1)

(@298 1)

(@299 1)

This is for all households who have access to land for agricultural purposes or could be used for that purpose. It must be noted
that the instruction “exclude communal grazing land” if the respondent answered “Yes”. For those who answered “No” the

instruction to the enumerator is to skip to Q 4.66.

Universe
All households in selected dwellings.

Final code list
1=Yes
2=No
9 = Unspecified

Number of hectors (Q463Hect)

does the household have access to?

soccer field)
2 = 5.000M” - 9.999Mm?
3 =1BUT LESS THAN 5 HA
4 =5BUT LESS THAN 10 HA
5=10BUT LESS THAN 20 HA
6 =20 HA OR MORE
7 = DON’T KNOW

1 = LESS THAN 5.000 M? (5.000 m? is approximately one

Q4.63 How many hectares of land, for agricultural purposes, if any,

(@300 1)



Note for users

This is only applicable to households with access to agricultural land or could be used for that purpose. The interest in this
guestion is on how many hectors of land the households have access to, excluding the communal land. If the respondent does
not know how many hectares, then the following example should be used as a guideline; a hectare is 10 000 square meter,
thus category one means less than one half a hector

Universe
All households with access to agricultural land.

Final code list

1 = Less than 5.000 m2 (5.000 m2 is approximately one soccer field)
2 =5.000m2 - 9.999m2

3 =1 but less than 5 ha

4 =5 but less than 10 ha

5 =10 but less than 20 ha

6 = 20 ha or more

7 = Don’t know

8 = Not applicable

9 = Unspecified

Basis on accessibility (Q464Acce) (@301 1)
4.64 | On what basis does the household have access to the
land?

1 = OWNS THE LAND []
2 = RENTS THE LAND []
3 = SHARECROPPING (13
4 = TRIBAL AUTHORITY []
5 = OTHER, specify []
6 = DON’T KNOW []

Note for users

This is only applicable to households with access to agricultural land or could be used for that purpose. The interest in this
question is to tell us about the degree of security and control that the household has in respect to the land. If the household has
more than one plot or piece of land then the respondent has to answer for the largest.

Universe
All households with access to agricultural land.

Final code list

1 = Owns the land
2 = Rents the land
3 = Sharecropping
4 = Tribal authority
5 = Other, specify
6 = Don’t know

8 = Not applicable
9 = Unspecified
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4.65 | What farming activities, if any, take place on the
land? Isit........ ? YEs No
1 = Field crops [J110]2
2 = Horticulture [11[]2
3 = Livestock (11012
3 = Poultry L1102
5 = Orchards LJ1l]2
6 = Other,(Specify)......coeveiii i g}

Note to users

This is only applicable to households with access to agricultural land or could be used for that purpose. The interest in this
question is to find out the nature of activities done on agricultural land. The instruction to the enumerator is to ask each of the
given categories to have either a “Yes” or “No” answer.

Universe
All households with access to agricultural land.

Final code list

1) Field crops (Q465Fiel) (@302 1)
1="Yes

2=No

8 = Not applicable

9 = Unspecified

2) Horticulture (Q465Hort) (@303 1))
1=Yes

2=No

8 = Not applicable

9 = Unspecified

3) Livestock (Q465Live) (@304 1)
1=Yes

2=No

8 = Not applicable

9 = Unspecified

4) Poultry (Q465Poul) (@305 1))
1=Yes

2=No

8 = Not applicable

9 = Unspecified

5) Orchards (Q4650rch) (@306 1.
1="Yes

2=No

8 = Not applicable

9 = Unspecified

6) Other (Q4650thr) (@307 1)
1=Yes
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2=No
8 = Not applicable
9 = Unspecified

4.66 | Does the household own any of the following?

a) Television YEs No

(11[]2
b) Refrigerator (]1[]2
c) Bicycle [1[]2
d) Radio [J1[]2
e) Bed 12
f) Watch or clock (112
g) Books L1112

Note to users

This question is asked to all the members of the household, and its purpose is to find out about the assets belonging to that
particular household. The assets should be a working condition. It must be noted that for category — g (which is books) refers
to the books that the household owns, the books may be academic books e.g. encyclopedias, textbooks, dictionaries etc.

Universe
All households with access to agricultural land.

Final code list

a) Access to television (Q466Tele) (@308 1.
1=Yes

2=No

9 = Unspecified

b) Access to refrigerator (Q466Refr) (@309 1)
1=Yes

2=No

9 = Unspecified

c) Access to Bicycle (Q466Bicy) (@310 1))
1=Yes

2=No

9 = Unspecified

d) Access to Radio (Q466Radi) (@311 1)
1=Yes

2=No

9 = Unspecified

e) Access to Bed (Q466Bed) (@312 1)
1=Yes

2=No

9 = Unspecified
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f) Access to Watch or clock (Q466Watc) (@313 1))
1=Yes

2=No

9 = Unspecified

g) Access to Books (Q466Book) (@314 1)
1=Yes

2=No

9 = Unspecified

Hungry adult (Q467Hung) (@315 1))

4.67 | In the past 12 months, did any adult (18 years and
above) in this household go hungry because there
wasn’t enough food?

1=NEVER []1
2 = SELDOM [12
3 = SOMETIMES [13
4= OFTEN (14
5= ALWAYS 15
6 = NOT APPLICABLE (NO ADULTS IN HOUSEHOLD) L6

Note to users

This question is applicable for all households and interested in adult (18 years and above) who went hungry because there was
not enough food in the past 12 months. The enumerator is instructed to be cautious about the age of adult according the
constitution. Legally anyone aged 18 years and above is considered to be an adult.

Universe
All households in selected dwellings.

Final code list

1 = Never

2 = Seldom

3 = Sometimes
4 = Often

5 = Always

6 = Not applicable (NO ADULT IN HOUSEHOLD)
9 = unspecified

Hungry child (Q468Hung) (@316 1)

4.68 | Inthe past 12 months, did any child (17 years or
younger) in this household go hungry because there
wasn’t enough food?

1=NEVER []1
2 = SELDOM []2
3 = SOMETIMES [13
4 = OFTEN (14
5= ALWAYS 15
6 = NOT APPLICABLE (No CHILDREN IN HOUSEHOLD) []6
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Note to users

This question is applicable for all households and interested in children (17 years or below) who went hungry because there
was not enough food in the past 12 months. The enumerator is instructed to be cautious about the age of adult according the

constitution. Legally anyone aged 17 years and below is considered to be a child.

Universe
All households in selected dwellings.

Final code list
1 = Never

2 = Seldom

3 = Sometimes
4 = Often

5 = Always

6 = Not applicable (NO CHILDREN IN HOUSEHOLD)
9 = unspecified

Children living in the streets (Q469Strk)

4.69 | In the past 12 months, is there any young person, aged
5 - 17, who has left this household to live on the streets?

1=YES

2=No

3 =DON’T KNOW

4 = NOT APPLICABLE (NO CHILDREN IN HOUSEHOLD)

[]1
12
13
[14

Note to users

(@317 1)

This question is applicable for all households and interested in children aged between 5 years and 17 years who left their
households to live in the streets in the past 12 months. The enumerator is instructed to be cautious about various
circumstances. For example, if members of the household know that their child/ren are living in the street the answer should
be “Yes” but if they do not know where they are, the answer should “Don’t know”. There should not be any form of

assumption that any child that is not at home is living in the streets.

Universe
All households in selected dwelling units.

Final code list

1=Yes

2=No

3 = Don’t know

4 = Not applicable (NO CHILDREN IN HOUSEHOLD)
9 = Unspecified
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Main source of income (Q470mnin) (@318 1)

4.70 | What is the main source of income for this
household?

1 = SALARIES AND/OR WAGES
2 = REMITTANCES

[]
[]
3= PENSIONS AND GRANTS [13
[]
[]
[]

4 = SALES OF FARM PRODUCTS
5 = OTHER NON-FARM INCOME
6 = NO INCOME

Note to users

This question is applicable to all household members and interested in their main source of income. The instruction to the
enumerator is to ask for the main source of income even in cases where more than one is applicable. Other non- farm income
is income from the sales of a business, other than a farm, operated by a household, also begging, selling of illegal items, etc.

Universe
All households in the selected dwellings.

Final code list

1 = Salaries and/or wages
2 = Remittances

3 = Pensions and grants

4 = Sales of farm products
5 = Other non-farm income
6 = No income

9 = Unspecified

Household expenditure (Q471tota) (@319 2)
4.71 | What was the total household expenditure in the last

month?

Include everything that the household and its members

spent money on, including food, clothing, transport,

rent and rates, alcohol and tobacco, school fees,

entertainment and any other expenses.
01=R0-R399 |:|01
02=R400-R 799 []o2
03=R800-R 1199 []03
04=R1200-R 1799 []04
05=R 1800-R 2499 [105
06=R 2500~ R 4999 [106
07=R5000—-R 9999 L]o7

— []os

08 =10 000 OrR MORE (709
09 = DON’T KNOW 110
10 = REFUSE

Note to users

This question is applicable to all household members and interested in the expenditure in the last month in the selected
dwelling units. The instruction to the enumerator is to include everything that members of the household spent money on
Including entertainment and other expenses.
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Universe
All households in the selected dwellings.

Final code list

01 =R0-R 399
02 =R 400-R 799
03 =R800-R 1199

04 =R1200-R 1799
05 =R 1800-R 2499
06 =R 2500-R 4999
07 =R5000-R 9999
08 =10 000 or more
09 = Don’t know

10 = Refuse

99 = Unspecified

4.72 | How much did this household spend on the following in the
last month

(a) Transport

(b) Housing

(c) Clothing

(d Food

(e) Personal appearance
(f) Other

Note to users

This question is applicable to all household members and interested in the amount spent on the mentioned items in the last
month. The instruction to the enumerator is to include everything that each member of the household spent money on
including entertainment and other expenses. The enumerator has to make sure that the money is recorded in Rands.

Universe
All households in the selected dwellings.

Final code list

a) Transport (Q472Tran) (@321 5)
Valid range: 00000 — 75750
Unspecified: 99999

b) Housing (Q472Hous) (@326 5.)
Valid range: 00000 — 20000
Unspecified: 99999

¢) Clothing (Q472Clot) (@331 5)
Valid range: 00000 — 25000
Unspecified: 99999

d) Food (Q472Food) (@336 5.)

Valid range: 00000 — 25000
Unspecified: 99999
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5) Personal appearance (Q472Pers) (@341 5)
Valid values: 00000 — 08000
Unspecified: 99999

6) Other (Q4720thr) (@346 5.)
Valid values: 00000 — 30000
Unspecified: 99999

4.73 | During the past 12 months, have you or any member of
this household been subjected to the following incidents?
Have you or any member of this household ......
YES NO
a) = had things stolen? []1[]2
b) = been harassed or threatened by a household
member? (1172
¢) = been harassed or threatened by someone outside
the household? 110702
d) = been sexually molested by a household member? (1112
e) = been sexually molested by someone out side the
household? (1172
f) = been beaten up or hurt by a household member? (11072
g)= been beaten up or hurt by someone outside the
household? L1102
h)= been murdered by household member LJ1lh2
i) = Been murdered by someone outside the household

Note to users
This is applicable for all households regarding incidents of harassment members have been subjected to in the past 12 months.
The instruction to the enumerator is to ask each of the given categories and have either a “Yes” or “No” answer.

Universe
All households within the selected dwelling units.

Final code list

a) Had stolen things (Q473Thef) (@351 1)
1=Yes

2=No

9 = Unspecified

b) Been harassed or threatened by a household member (Q473Inhh) (@352 1)
1=Yes

2=No

9 = Unspecified

c) Been harassed or threatened by someone outside the household (Q473Noth) (@353 1)
1=Yes

2=No

9 = Unspecified

d) Been sexually molested by a household member (Q473Sexi) (@354 1)

134



1=Yes
2=No
9 = Unspecified

e) Been sexually molested by someone outside the household (Q473Sexn)
1=Yes

2=No

9 = Unspecified

f) Been beaten up or hurt by a household member (Q473Hiti)
1=Yes

2=No

9 = Unspecified

g) Been beaten up or hurt by someone outside the household (Q473Hitn)
1=Yes

2=No

9 = Unspecified

h) Murdered by household member (Q473InhM)
1=Yes

2=No

9 = Unspecified

i) Murdered by someone outside the household (Q473Nohm)
1=Yes

2=No

9 = Unspecified

Type of sector (Q474Medi)

4.74 | If anyone in this household gets ill and decides to

seek medical help, where do they usually go first?
If more than one consultation, ask about the most recent
one.

Public sector (i.e. government, provincial or
community institution)

01 = HosPITAL

02 = CLINIC

03 = OTHER IN PUBLIC SECTOR, specify
Private sector (including private clinics, surgery, private
hospitals and sangomas)

04 = HoSPITAL

05 = CLINIC

06 = PRIVATE DOCTOR/SPECIALIST

07 = TRADITIONAL HEALER

08 = PHARMACY/CHEMIST

09 = HEALTH FACILITY PROVIDED BY EMPLOYER

11 = OTHER IN PRIVATE SECTOR,
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12 = DON'T KNOW

Note to users

This question is only applicable to respondents who answered “Yes” in Q 1.22 (Consulted a health worker). The enumerators
are instructed that if more than one consultation took place, we consider the most recent one. The interest in this question is
the place of consultation and the enumerators are instructed to determine whether the respondents used public or private
sector. The public sector includes government, provincial and community institutions, while private sector includes private
clinics and hospitals, surgeries and sangomas.

Universe
All household members who consulted the health worker in the past month, due to injury or illness.

Final code list

01 = Hospital

02 = Clinic

03 = Other in public sector, specify
04 = Hospital

05 = Clinic

06 = Private doctor/specialist

07 = Traditional healer

08 = Pharmacy/chemist

09 = Health facility provided by employer
10 = Alternative medicine, e.g. homeopathist
11 = Other in private sector, specify

99 = Unspecified

Facility of consult opens 24 hours (Q4750pen) (@362 1.
4.75 | Does the facility where you consult from open 24
hours?
1=YES END []1
2=No CONTINUE (]2

Note to users
It must be noted that if the respondent answer “Yes”, then it is the end of the interview, but if the respondent has answered
“No” then s/he has to continue with Q4.78 and 4.79.

Universe
All household members who consulted the health worker in the past month, due to injury or illness.

Final code list
1=Yes

2=No

9 = Unspecified

Time that the facility opens (Q476Time) (@363 4.
HiH| M| M

4.76 | What time does the facility you consult from open?
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Note to users
This question is asked to the respondent who answered “No” to Q4.75. The respondent’s answer to the opening time should
be recorded in four digits i.e. first 2 digits for the hour and the last 2 for the minutes.

Universe
All household members who consulted the health worker in the past month, due to injury or illness, with the facility not
opening for 24 hours answered “No” to Q4.75.

Valid values:
Valid range: 0000 — 8000
Unspecified: 9999

Time that the facility closes (Q477Time) (@367 4.
HIH][ MM

4.77 | What time does the facility you consult from close?

Note to users
This question is asked to the respondent who answered “No” to Q4.75. The respondent’s answer to the closing time should be
recorded in four digits i.e. first 2 digits for the hour and the last 2 for the minutes.

Universe
All household members who consulted the health worker in the past month, due to injury or illness, with the facility not
opening for 24 hours, answered “No” to Q4.75.

Valid values:
Valid range: 0000 — 4800
Unspecified: 9999

STRATUM (Stratum) (@371 2)
Derived variable: Derived from Type per Province

Valid range: 1 - 18

Values:

1. Western Cape — urban

2. Western Cape — non-urban
3. Eastern Cape — urban

4. Eastern Cape- non-urban

5. Northern Cape — urban

6. Northern Cape — non-urban
7. Free State — urban

8. Free State — non-urban

9. KwaZulu-Natal — urban

10. KwaZulu-Natal — non-urban
11. North West — urban

12. North West — non-urban
13. Gauteng — urban

14. Gauteng — non-urban

15. Mpumalanga — urban

16. Mpumalanga — non-urban
17. Limpopo — urban

18. Limpopo — non-urban
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Primary Sampling Unit (PSU) (@373 7))
Valid range: 1011001 - 9312247

WEIGHT (house_wgt) (@380 14.8)

Household weight
Valid range: 50 — 14479.5631398
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	P0318 
	________________________________________________________________________________ 
	                                                                                                          Revised estimates 
	                                           General Household Survey 2004 
	Descriptive name: This is a short English description plus the variable name in the original file used by Stats SA to construct the ASCII file. 
	Linking files 
	Official and expanded definition of unemployment  
	Official and expanded definition of unemployment  
	DATA FILE:  PERSON 
	Currently attending school (Q110atte)           (@47   1.)
	Education institution (Q111Eduii)            (@48   2.)
	Lack of books (Q116book)          (@55   1.) 
	 
	Poor teaching (Q116poor)          (@56   1.) 
	Lack of teachers (Q116lack)                       (@57   1.) 
	Facilities in bad condition (Q116badc)                     (@58   1.)  
	Fees too high (Q116fees)                                 (@59   1.) 
	Classes too large (Q116clas)                     (@60   1.) 
	Other, specify in column (Q116othr)                      (@61   1.) 
	Failed minimum pass (Q118fail)                       (@63   1.) 
	Change of residence (Q118chan)                     (@64   1.) 
	Health reasons (Q118heal)                       (@65   1.) 
	 
	Pregnancy (Q118preg)                      (@66   1.) 
	Teacher’s decision (Q118teac)                     (@67   1.) 
	Parent’s decision (Q118pare)                     (@68   1.) 
	Learner’s decision (Q118lear)                     (@69   1.) 
	Expelled due to lack of disciple (Q118expe)            (@70   1.) 
	Absconded  (Q118absc)                                      (@71   1.) 
	No money for fees (Q118nomo)                     (@72   1.) 
	Lack of school facilities (Q118lack)          (@73   1.) 


	Final code list 
	Final code list 
	Flu or acute respiratory tract infection (Q133flu)        (@97   1.) 
	Diarrhea  (Q133diar)                         (@98   1.) 
	TB or severe cough with blood (Q133tb_c)           (@100   1.) 
	Abuse of alcohol or drugs (Q133subs)                           (@101   1.) 
	Depression or mental illness (Q133depr)                   (@102   1.) 
	Diabetes (Q133diab)                                                (@103   1.) 
	High or low blood pressure (Q133bloo)               (@104   1.) 
	HIV/AIDS (Q133HIV_)                (@105   1.) 
	Other sexually transmitted disease (Q133sexd)                     (@106   1.) 
	Other illness or injury (Q133othr)                    (@107   1.) 
	 
	Facilities not clean (Q137facn)          (@113   1.) 
	Long waiting time (Q137wait)          (@114   1.) 
	Opening times not convenient (Q137time)        (@115   1.) 
	 
	Too expensive (Q137tooe)          (@116   1.) 
	 
	Drugs that were needed, not available (Q137drug)       (@117   1.) 
	 
	Staff rude or uncaring or turned patient away (Q137staf)       (@118   1.) 
	Incorrect diagnosis (Q137diag)                        (@119   1.) 
	 1 = Yes 
	 1 = Yes 
	1 = Yes 
	1 = Yes 
	 1 = Yes 
	Primary Sampling Unit (PSU)          (@150 7.) 
	2.0
	Interviewer to answer 
	R18 001 - R30 000
	R54 001 - R72 000
	R132 001 - R192 000
	Don't know 



	 
	Note to users 
	 
	Universe 


	2.16
	How long ago was it since …… last worked? 
	 01 = 1 week - less than 1 month 
	 02 = 1 month - less than 2 months 
	 03 = 2 months - less than 3 months 
	 04 = 3 months - less than 4 months 
	 05 = 4 months - less than 5 months 
	 06 = 5 months - less than 6 months 
	 07 = 6 months - less than 1 year 
	 08 = 1 year - less than 2 years 
	 10 = 3 years or more  
	 11 = Don't know
	1) Did odd jobs during the past seven days  
	Supported by persons in the household (Q217InhHH)       (@62   2.) 
	2) Supported by persons in the household 
	Supported by persons not in the household (Q217NotHH)      (@64   2.) 
	Savings or money previously earned (Q217Savii)       (@70   2.) 
	6) Savings or money previously earned 
	Old age or disability pension (Q217Penss)        (@72   2.) 
	7) Old age or disability pension 
	8) Other sources, e.g. bursary, study loan, specify in column 
	(a) Acquire new skills (Q219NewS)                                  (@77   1.) 
	(b) Got a sustainable job (Q219Sust)                                 (@78   1.) 
	 
	Valid range: 0 – 2 
	Add a – h to confirm i


	Valid value 
	What is the value of monthly rent you would pay? 
	How much levy did you pay in the last month? 

	When is the problem usually rectified? 
	 
	 
	 
	    1 
	 
	    1 
	 
	      1 
	 
	    1 
	 
	  1 
	  2
	 
	    1 
	    2 
	Time that the facility closes (Q477Time)        (@367    4.)
	Primary Sampling Unit (PSU)          (@373    7.) 





